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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
_question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. Excess of debit side over credit side is called: - -%bm{gmﬁfd‘-jfl/dfé/r b 1.1
(A) debit balance  Fiix s (B) creditbalance U FetS
(C) zero balance u"J-’/"" (D) negative balance u‘J-'-’d"
2. Any dealing between two persons or things is called. -.g:.ru{upcﬁwwéu:;w Elay 2
(A) voucher & (B) bookkeeping ._.(Ef....f (C) transaction Ly (D) accounting s
3. The errors which cancel themselves out are called: _q_!altzf;,)_;&;f i,r'*lf;ﬁﬁub_-bﬁuﬁ 3
(A) errors of ommission L;L.WJJ?,J)%‘ (B) compansating errors uL_:H"dhi.,fJ?}fl
(C) errors of commission  JL¥ & (D) :;Itria1 balance errors ugﬁﬁJﬂJT}'
4. Written evidence of a business transaction is ciailed: I'=! -:.;_ttk(a:?d;fb’uf:ﬁwyus’ 4
(A) transaction I (B) book keeping .&"..f (C) fvoucher A (D) accounting L3¢l
5. Purchase machinery for cash will be debited to: | _b”é..lf_b”e.-;:..i{,uj}ﬁgfd/&" 5
(A} purchase account 47zl (B) cash account =
(C) supplier account Szl (D) machinery account d/&f‘".:lf
6. King of all the books of account is called: R rm&mw__:@uru" 6
(A) Journal st (B) Ledger W (C) Trial balance JES12 (D) cash book FEg s
7. Discount allowed on list price is called: *%&Md«!{dbi-lng{@‘EJﬂfﬁ 7
(A) trade discount 2% C!;L_f" (B) cashdiscount  LsZid
(C) commission J’J (D) interest y
8. For payment of bill days of grace are: -L,E.L::u:ff Lugﬁl:l[_{di& .8
(A) 2 (B) 3 (C) 4 (D) 5
9. Payment of bill of exchange before due date is called: -:;'—(jllr’/tﬁ I:IJdi'ﬂ:..:i;}If 9
(A) retiing (546 (B) discounting tuls,  (C) endorsing J’r" (D) renewal 445
10. Bank reconciliation is: DS Ty
(A) Journal (s (B) Ledger :l.«!/(_f (C) cash book ﬁj{t}u (D) statement osd
11. While preparing final account direct expenses are recorded in: -;_,{_ri.tg.g&».;E;Iﬁfamljgi.:::i:z.ﬁygﬁiKJJ; b .11
(A) profit and loss account =Wl (B) balance sheet 22"
(C) trial balance (,:‘ﬂv'-‘d‘?} (D) trading account :l.ar(jzlg’"
12. unearned income is recorded in balance sheet as: :J:“.‘.;‘:.tlg([uf..*.éu‘ﬂ-ﬁbwrg J.:.TJ::JLC{ 12
(A) assets b (B) expenses @& (C) revenue (47 (D) Liability (§/fsss
13. Sale book is used to record. -;;_,blgkralxﬁlbt&sﬁ.gt}u 13
(A) cashsale =358 (B) salereturn (=3} (C) creditsale «=33bls! (D) cash purchse 475
14. |n accounting equation assets are equal to: -@Lﬁzualgﬁb‘l‘ﬂ.;lsbﬁﬁ .14
(A) capital by (B) Liabilities  Ulsswss
(C) capital - Liabilities ~ JL/sri-ob (D) Liabilities + capital oL+ ULl
15. Heavy expenditure on advertisement of new product are called: _L,_W.L.M..-:AglﬁldxLafA_I:iI{LSJL;LﬁIJ 25 .15
(A) capital expenditure = bl - (B) revenue expenditure AL 34T

(C) deffered revenue expenditure =bLFUAL3LT (D) capitalloss WLl
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Section -1 2x 18=36

2. Write short answers of any six parts from the following. 2x6=12

i. Define services business.
ii. Define accounting.
jii. What is matching concept?
iv. Define external transactions.
v. Define real account.
vi. What is simple entry?-
vii. What is zero balance?
viii. Define Liabilities.

ix, Write down rule of debit and credit regarding personal account.

3. Write short answers of any six parts from the following. 2x6=12

i. What is purchase journal?
ii. Define cheque book.
ji. What is bank overdraft?
iv. Define bank statement.
v. What is contra entry?
vi. Define "dishonouring of bill",
vii. What is sales returns journal.
viii. Write four benefits of special journals.
ix. Define credit note.
4, Write short answers of any six parts from the following.
i. Define accrued income,
ii. What is interest on drawing?
iii. What is meant by provision for bad debits?
iv. Define capital expenditures.
v. Give two examples of revenue expenses.
vi. Define revenue profit,
vii, What is error of commission?
viii. What is meant bf,r compensatory error?
ix. Write two examples of error of principle.
Section -1I

Note: Attempt any three questions from the following. 3x8=24
5. Give Journal entries from the following information.

i. Started business with cash Rs. 200000/=,
:ii. Paid rent Rs.10000/=.
iii. Purchased goods Rs.10000/=.
iv. Sold goods on credit Rs.50000/=
v. Goods taken away by proprietor for his personal use Rs.2000/=
vi. Deposited into bank Rs.10000/=, '
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6. Sultan sold goods to Mahmood Rs.10000/=. and drew upon him a bill .;Ji.uiu:’::..i;)q gJ.;_monnm:;?ﬁé_qu .6
of exchange for two months on the same day. Mahmood returned bill fwwﬁﬁz_.&é‘uj&.z_.uf.g.,fwwh&m
to Sultan after acceptence. On the due date Mahmood could not pay ﬁdaﬁé.{:dﬁfd}mugii,uw.d:@ﬁ els
the bill and dishonoured the bill ot i S B B b b, B S
Required: Pass Journal entries in the books of Suitan & Mahmood. -ej@( BUbI St binsdl sl Sl
7. From the following particulars,prepare bank reconciliation statement as on ﬁjiﬁﬁzmsﬁ‘m Laib,ﬁds@;: ol
31* December 2013 Sk
i. Cash book balance (overdraft) Rs.40000/=. -.-:.r_.:;r4000[]f=&f(&lﬁml)u"'l-”b".{ ;ﬁf i
ii. Cheques issued but not yet presented Rs.10000/= _.;_(u.ﬁ’b‘f?{_&ﬁm_fd’:fﬁq_fdﬂgh@,él%u1UDDDI%T i
iii. Cheques deposited but not yet cleared Rs 5000/= -Lﬂuf%.fdﬂg?‘{&uf_ﬁhé.ﬁ%uEDDD#%f i
iv. Bank charges entered twice in the cash book Rs.1000/= -__Lfl_f Lz L ‘,F-/ b":&':tl?uﬂd;:.dﬂﬂu,’:?}' 1\Y
v. Dividend directly collected by the bank Rs.2000/= - -hL-UﬂubgML.ﬁ(ﬁ%uEUUUh& V
8. State with reasons whether the following expenditures are capital or revenue? SAULE DIt bl P i b AL w2 8
i. Wages paid on erection of machinary. -dm,?Ji_.f__.»J&dﬁ*’ i
ii. Repair of furniture.  erdES
ii. Interest paid on business loan. o wwy o5 PS5 N il
iv. Legal expenses paid on income tax appeal. _..—;,i.flﬁéﬁﬁ'&djugﬁf Liv
9. Prepare trading and profit and loss account of Yasin & sons at £ L2013 A3 167 e g:.ﬂ;_}'?};.)_*jt-,;: 9
the end of 31st March 2013 from the following {rial balance. _qﬁyyub’uuﬁ,&;!ji_}
Detalil J':J Debit Rs || Detall d’-’”’ Credit Rs
Purchases _»_,PUL 34000 Interest received (% :f:r 2000
Carriage ,,Lf (11511 11000 |fReturn outward uﬁuéw €000
Duty 3¢ 7000 || Capital iy 50,000
Wages =71 8000 Discount Sy 1400
Stationery iy 3000 |[lSales =51 40000
Stock 025 5000 »Dividend received (4 él:-» 600
Salaries ¥ 20000 J"
Rent S aF 10000
Commission 23k 2000 |
Total Y 100000 |Total ¥ 100000
Adjustments: : Sl
i. Closing stock Rs. 5000/=. ~&-2/5000/=t 258 01 i
ii. Wages payable Rs.1000/=. 5;3;100{1;*:57.:.«3 Pl 2l i
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

¢ 1.1. Debit balance of cash book is also called: -::;tlkfl,ﬁg.b;:.iﬁ.._frff A1
(A) positive balance Ut | (B) creditbalance (&< _f
(C) unfavourable balance LE;C,;'IF/;; (D) favourable balance Lligfj"lf
2. Cheque which is returned by bank unpaid is called: -?ruﬁtfuﬁuﬁﬁlﬂ&ﬂéuj 2
(A) dishonour cheque iz (B) crossed cheque Gut/
(C) bearercheque  GUJb (D) cancelled cheque Gl
3. Any written evidence in support of business is called: -r;_rlkfﬁfdgffu{:ﬁdxl,ur 3
(A) bill J (B) receipt e, (C) voucher pig (D) invoice u&
4. A credit represents. ..a‘_-..l:‘fJﬁ'LL*.-,_i_f...ﬂ 4
(A) decrease in liabilty g  (B) decreaseinincome  (fUtdaT
(C) increase in liability '3';:;5wiu¢dxlu.= (D) increase in assets LI mzb
5. Accounting is the language of: -l 5
(A) banking JJJGE: (B) commerce JJ/K (C) business - df:;.ub’ (D) economics Ja?bﬁ
6. Commission received is related to: _q..;.-_..:LJ’Jw KdﬁJJ‘-‘-{ B
(A) nominal Alc 27 (B) impersonal Alc .,.,w";f (C) personal Alc ;wﬁ (D) real Alc =WE
. 7. The other name of day book is: —e(bipble s 7
(A) Journal £t (B) Ledger  sW(ff (C) cashbook Y% (D) purchase book 47t
) 8. Goods returns to supplier should be credited to: _b'm.f,t_):;i.f‘_,dlmzlg"'ww;ﬁ.cf_*}:} 8
(A) goods return account ﬁergfﬁw . (B) supplier account .?'U;;br
(C) purchase returns account J-juiL-;Lf (D) cash account =\
R 9. If hoth sides of an account are equal the account has a balance. -.,{.H'_l.;ﬁiK:L!JIFUHJMJ{)IU;MJ:JJ% .9
(A) equal 4 (B) zero (©) credit ¢~ (D) debit /s
- 10. Trial balance is a: | | | e S5Si 0
(A) Account =31 (B) Ledger  =U(ff (C) Statement o5 (D) Balance U~




11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Cash sales are recorded in:

(A) sales book =35 AV (B)

(C) cashbook U/ (D)
Goods given as charity should be credited to:

(A) purchase account  sW(5/ls/ (B)

(C) sales account ==y} (D)
Bank reconciliation is a part of:

(A) passbook LUl (B) Journal £t (©)
Bill of exchange is drawn by:

(A) endorsee ,.JILF; (B) a holder S (C)
Interest on renewal of a bill is revenue to the:

(A) drawer aﬁ'f.;/ (B) drawee .oy (C)

Net profit is transfered to:

(A) capital account £ =l (B)
(C) creditors account suLigisl (D)

The balance of petty cash book is:

(A) Liability (/.3  (B) expense .27 (C)
Errors of omission affects:

(A) one account s=_(1 (B) twoaccounts JUIn  (C)
The process of recording a transaction in ledger is called:

(A) posting & (B) jnurnlalizing (e dig s (©)
The money with which proprietor starts his business is called:

(A) capital L (B) drawing 031:4 (C)
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Section -1 2x25=50 d.‘i'i,.:p
2. Write short answers of any elight parts from the following. 2x8=16 -q&faymﬁﬁﬁlzﬁfbéfguﬁgl'}&a L
i. Define Journal. -q):.*gﬁdl{tju |
ii. Define Ledger. SIS i

iii. What is meant by L.F?
iv. What is cash discount?
v. What is meant by C/F?
vi. Define book-keeping.
vii. How accounts are balanced in Ledger?
viii. Define compound entry.
ix. What is trade discount?
x. What is meant by transferring and posting in book-keeping?
xi. Define accounting cycle.
xii. When trade discount is given to buyer?
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-ufj.::qﬁd’(ﬁ:‘;b( Vi
el S oS A i
SISy i
?ﬁ'_.l_!-‘-ﬁ’-’&i[f" JiX

S iy “L-r.:.. \_ﬁﬂ{' ;:ﬂ'._f )JI}J &:":lﬁr XK

LA s X
T..-‘:.(jlgd:?fd-;f BJE&&? Xii

3. Write short answers of any eight parts from the following. 2x8=16 _q.&iagrﬁ/‘?épiz&fa.éf;u.'d'_sr;,;: 3

i. Define drawer.

ii. Distinguish between bill receivable and bill payable.

jii. Define bank draft.

iv. Define renewal of bill.

v. Define endorsee.

vi. Define sales return journal.
vii. Define types of cash book.
viii. What is meant by debit note?

ix. Define saving bank account.

X. Define pay-in-slip.

xi. Define dishonour of cheque.
xii. Define un-earned income.

4. Write short answers of any nine parts from the following. 2x9=18
i. What is trading account?

ii. What is gross loss?

iii. What is net profit?

iv. What is carriage inward?

v. What are intangible assets?
vi. What are quick assets?

vii. What are prepaid expenses?
viii. What are debtors?

ix. Define worksheet.

x. What is capital expenditure?
xi. Define rectification of errors.
xii. What is suspense account?
xiii. What are legal expenses?
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Section -II 33 >

Note: Attempt any three questions from the following.  10x3=30 ..L{/qu’e.«Ubf U’-' Jfr..pt‘,tj&;: Wy
Aslam sold goods to Afzal for Rs.10000/= on 1st january 2013 and  =3s4510e-,10000/=/ 2 41420136524 .5

5.

draws on Afzal a bill at 3 months for this amount. Afzal accepts it J"’Ld;fdikrtﬁ;f"réﬁ:a bl ﬁuwlu:"
and returns to Aslam.Aslam discount this bill with his bank 6% P.A. b5kt I/ RS s M bt

On maturity the bill is dishonoured. s A kg Bl sbo, PS5 20 6%
Record the transaction in the books of Aslam and Afzal. -L{/u.*. ..,J" JJ"’I;:I l{-;ltilk’ur‘;;-)g
6. Prepare a bank reconciliation statement as on 31 Dec. 2009, -@g&oogﬁmq.ﬁ&:—"";ﬂ; RO VOV
i. Cash book balance Rs.35650/=. -22,35650/=t LY
~ii. Cheque issued but not yet presented for payment Rs,13750/= -31__:;13?5Uf=&7:5_ﬂu.'fu?¥£ I ks ..E&lg?d_’dxl._n.g i
iii. Cheque paid in bank but not yet cleared amounting to Rs.6780/=. L -.J.;,;s?aof*:i’;:‘z_l/ Gtk il
iv. Notes receivable collected by bank Rs.1500/= W rrmseny fe 9150018k v
v. Collection fee of notes receivable Rs.120/= deducted by bank. ks 1201=F g S iemsSyf
7. State with reasons whether the following expenditures of a Limited Jitnd LGS g S0 fA Ltz T
Company are capital or revenue. _Lgaiflﬁrayl.ﬂ_.pgdst ol 71
~ i. Legal expenses incurred in raising a debenture loan. LAV L L FIE S K?
ii. Wages paid for the erection of machinery. LRI L L S B i
iii. Legal expenses incurred in purchasing land property. _igalg!ﬁ&;ﬁ'fé_af;ﬂﬂg@&} Jii
iv. Repair of a plant to keep it working. -a@fﬁléyfiﬁéutﬁbgfrb'f& v
v. Legal expenses incurred on an action for infringment of its btéd'z::jfuﬁ’ JJFJﬁLJF.Jd;;:JusJuEJJ;?L V
~ trade marks. —ebipl e
8. Give Journal entries to rectify the following errors. _;,'{'fuk:; ﬁli&ﬁ:&)ﬁlﬂ’jbu 8
- i. Sale of plant for Rs.6000/= treated as regular sales. ..wfﬁwuf&:)u/.h;.fefﬁ#:)ﬁqﬁ;__uﬁﬁﬂﬂha‘ K
i. Repair to machinary Rs.400/= debited to machinary account.  -WlaafAssK1z2 R dner digsute sa00=E" i
i, Salaries paid Rs.5000/= wrongly debited to rent account. -;3{5:/( E-,u‘lgf._*;ih’f_tiﬁ’.f J f.shffJ.-.;_ysuoohé’f i
iv. Purchase day book was under cost Rs.2000/= HL’SFU’ a%.uZDDthfT..f Soalopins v
-v. Rs.5000/= withdrawn by owner debited to salaries account. -Efé.,uﬁ’ut LS F e Lé..usnoohﬂi‘ v
9. Prepare Trading, Profit and loss account and balance sheet. -g,f’h-.tafﬂ;ﬁ:wlb’wuﬂg &I_:*"::.:.:L:I"U_’sa» 9
Description Debit Rs. |Credit Rs.
Opening stock a,éiJLiT:f 15000
Purchase +7 |80000
Rent ,If 3000
Salaries ¥ |2000
Advertisment AP |5000
* Cash S 10000
Debtors i~ 125000
Furniture ) 40000
Creditors WAL} 15000
Sales =31/ 85000
Capital b7 70000
Total  J¥ 180000  |180000
Adjustments:- —ideaZh
" i. Closing stock Rs. 30000/=. ii. Depreciation on furniture 10% p.a. ,:.uwn%&rj.; AP i _.H;.JJSUUDDa,éJU’Eﬂ i
iii. Salaries payable Rs.3000/=. _%:;3000.4’:@13.!';1!@21: Jii
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

question with Marker or pen ink on the answer sheet provided.

1.1. The art of recording, classifying and summarizing the business ‘gu:}fﬁlfz:f‘uli.fdﬁqﬂré_/ Zyuﬂ&u)_’wfd.;w{ 1.1

-_  ftransactions is called:

) (A) book-keeping &/ (B) accounting _&3¥

_ 2. Capital + Liabilities - Assets =
(A) zero 4 (B) one [
3. Return of Goods to saleem should be credited to:

(A) sales return account L 3K1(Flnm3s

(C) purchases return account 2236157154 2

4. The book which contains a classified record of all transactions

is known as:
(A) Journal 7 (B) Ledger %

5. A bank is:

-

(A) commercial institution uhi&alﬁ
sl 312
;6. Petty cash book is a branch of:
AT
ey}

- (C) charitable institution

(A) purchases book
(C) sales book
7. Bank reconciliation statement is usually prepared:
(A) at any time »:3:656( (B) weekly sz
—8. Favourable balance of cash book means:

(A) Dr. balance of cash book ™~ Dr. 5’__[‘9}‘:.’/

(C) overdraft balance of cash book ﬂ.:jl,aimrs’..{ J"/

9. The legal tenure of bill is:

g (A) ¢»100 days (B) /290 days

10. The person to whom the bill is drawn is called:

(A) drawee >, (B) drawer aﬁfg/

04 /4

(C) Journalising E7k7 (D) auditing _&37

S b2 - Ulbws + L 2
(C) two (D) three ¢f
e bt LRSS A 3
(B) Saleem account ..:,-:Sb’f(:"'
_',:EE’IJ'{
Wt bel e UL SianZ WU, UL 4

i

(C) Trial balance i} (D) balance sheet L5 "

_‘:'_t':f-.«c';u_lﬁ i<

(D) cash account

{B) social institution

YOS
(D) educational institution ul,!ll)‘f;

e Ll L Petty 6
(B) passbook (UL
LUt

i t‘l.gﬂlfr;?,__{;:br'b f:,,r,ifﬁ_ﬁ 7

(D) cash book

(C) monthly (L (D) yearly <UL
e b PR AL LKLY 8
(B) Cr. balance of cash book ™ Cr. 6.L%
(D) none of these uﬁf.-_wwf
P N 1A
(C) » 80 days (D) s 70 days
_:;_tLlﬁ(:a;'_JLgL,(dﬁ{rti

(C) payee uﬁ@ﬁ (D) None of thes




11. The way of writing assets and liabilities in balance sheet is called:

(A) realisation (2715 (B) liquidity (3P
12. All the indirect expenses are charged to the:
(A) trading account :I.arJJL_E’
(C) balance sheet  E5F
13. Closing stock is valued at:

(A) cost price ..:é_—-f U

e b P g dosis b2 LES 1

(C) marshaling &4 (D) None of these Xl Ute
b e A U 12

(B) profit and loss account ety

(D) None of these u.?ﬁ!::,ufuﬂ

e Qi S 2580 13

(B) market price .:EJ..:..;GL

(C) cost or market price whichever is higher seslife s :JE.*J;GLLJ U

(D) cost or market price whichever is lower J’F&C—-u: :«EJJLLJU

14. Interest on drawings in a business is a/an:

(A) income T (B) asset .zl

15. Wages paid' to workers for construction of building is a:

(A) capital expenditure u:'.«lijFLﬁ.f{
(C) Capital loss L=

16. Money received on sale of Goods is:
(A) capital receipt dr":s.}g

(C) revenue profit Cﬁr:i;j.:

17. The transaction which is omitted from the record is called:

(A) error of omission LSEJ‘JJ:ZL_J:”

(C) error of principle du‘d/dr"l

_%tﬂuf;}:ﬁ:f{u@fm 14
(C) expenses =bl7f (D) liability (/1503
-...?_t'!f.—-é}L?‘UJJL-L_Pl_(n}IJrLJIJH/?{E}—-LAPJ&JU A5
(B) revenue expenditure = bl712y,
(D) revenue loss by,
e S P P33 p 61 16
(B) revenue receipt (»4sis
(D) capital profit C’)’Jﬁr
_;;-_bLlH:ﬁg’i.r;Lﬁbnﬁc{JuiJLﬂ A7

(B) error of commission L/ l41kk

(D) compensating error Jﬁdui_/&w

18. Wrong allocation of expenses between capital and revenue is an error of: _ﬁ;JM#JU?HiJJEgﬂJIﬂJ;H}' .18

(A) omission JLJJKJ!‘*‘
(C) principle i
19. Any difference in trial balance is transferred to:
(A) sales account ,':_,-t{.,;;,/
(C) purchases account #=W(lx/
20. Kinds of accounts under American approach are:

(A) 2 (B) 3

(B) commmission J’h J{i-,b;f.alé
(D) compensating qul dise_ S 3w
e te G AL NS 19
(B) suspense account s=l(5)
(D) None of these (st
Ut BISUIEEEL B g1 20
(C) 4 (D) 5
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Inter - (Part-1) -A-2016

RollNo._ e St Subject Code 2 7 10

Principles of Accounting (Essay Type)

Session;2015-2017

(;t*ﬁl)d.i’)u.:_.alf’df J

Marks: 80 Time: 2:30 Hours .ﬁir 2:30: 80:/:}
Section -1 2x10=20 JFL.ID
2. Write short answers of any five parts from the following. 2x5=10 -pj)}f:-..fLiﬁﬁgﬁflzlékagfauid_jbjj 2
. Define accounting. oA
ii. Define liabilities. =y Al i
ii. Define capital. s AE0 i
iv. Define Ledger. _uf{.yﬂf/{ AV
v. Define cash payment Journal. _uf{.y/""Jﬁl;IJ{ft;u v
vi. Define petty cash book, . iu:ﬂ"'_a/'&f_fﬁl? Jﬁ Vi
vii. Define pass-book. R bﬂjJJ{_,rL Vi
viii. Define cheque. w56 i
3. Write short answers of any five parts from the following. 2x5=10 _L,j_’):ff:.,Llﬁﬁieizléiadfaddmﬂ 3
.. Define foreign bill of exchange. -L,{fu)_th_g-f/TJd,i'—mﬁf: |
ii. What is meant by retirement of bill? 'a‘r;_ﬂ,.»g;. &yl § i
iii. What is revenue expenditure? el e = blAy, i
iv. What is capital receipt? 'T‘r_:/tfa.aj.r":.j/ v
v. Define error of commission. “;.:L/lf:;.(ju‘d:f v
vi. What is error of principle? ?‘;_;r,»g;;_&“dﬂr Vi
vii. What is final account? 'i‘.;_ﬂ/t_f.:-_g;jﬁ’lﬂ Vi
viii. What is intangible assets? Sl = b2EIGA 2 i
Section -1I r:u,..m
Note: Attempt any three questions from the following. 20x3=60 _J/J/J._fﬂir L,E':..J,-f:..uf()':b;: (WY
4. Saijid sold goods to Muneer on 1 January, 1998 for Rs.60000/= and draw ‘_JLbf_,mfﬁ:-’Lf:Q-’f_m L»f19986.w’{ :
upon him a three months bill for the same amount. Muneer accepted the bill VL/J:;:(JJ_./_JM/JL/’;};/
and returned it to Sajid. On maturity, Muneer expressed his inability to meet LFIJrJJr’_//LFIJIOJEJJHLJE |
the bill and offered him to pay Rs.20000/= in cash and accepted a fresh bill ;:ra_:/:rLuZDDDDf—Jﬂf» Lu:fd/...,;,u*
for three months to cover balance plus interest at the rate of 5% P.A for —JJffﬁ.JVLJFHUL/5%IJu;J é’f.».-n’
three months. At the due date this new bill was duly met by Muneer. ufwfr.ali,,ard’ FJ[JJ:"—_JI
Required: Pass Journal entries in the books of Sajid and Muneer. uqfutL_/Iu“.,fJ/_-’,ubfLr...,#f
5. From the following information, prepare Bank reconciliation statement as ulr‘-‘fﬁﬁzmsﬁm el fits 5
on 315 December, 2015 A.D. | L

i. Cheques issued but not cashed Rs.5000/=,

iii. Cheques deposited but not yet cleared Rs.6200/=
. Interest debited in pass book only Rs.1500/=.

. Bank charges debited in pass book only Rs.100/=.
i. Dividend on shares directly collected by bank Rs.1000/= but i ruﬂidﬁ....—fbau.—’__igmDDOI—é"@VxJ

. Balance as per cash book Rs.25000/=, -9%3;25000#37‘,}’%&{&! :

_LJ’UWL}VJJFJQ'_J;&JEELFHI_L;Z:r‘_uﬁﬂﬂﬂ.-’ é’_ i
e Kb Bl oS Gl Lo 16200087 i
~Ure st 3L UL 3,1500/= A

Sl s AL NS a0/

not yet recorded in cash book. fru"i,b,n(_)‘...fuf..f



i i

6. From the following trial balance of Bilal Traders, prepare trading and

12015 531 csaSUSE VS stk 2 )b 6

profit & loss account and balance sheet as on 31St December,2015 A.D. ..J/LJL)‘J'J:I“HDWJU‘J:TGJVF

Description =i Debit Rs. | Description 1< Credit Rs.

Opening stock  »,Z303L&! 6000 | Bilal Capital . -6t 22000

Purachases % 7= 25000 | Sales =33047 55000

Wages LA 2000 | Creditors  ol5 7/} 6700

Cash 0y 7000 | Commission s~ 2000

Drawing s 3000

Debtors S 9000

Machinery S 20,000

Salaries Wi 5600

insurance &7 1800

Rent &) 3500

Utility expenses &/ Us” 2500

Sales return 33 52l 1500

Total  J¥ 86900 86900

Adjustments:- u.--t--""'?,.#l

i. Closing stock Rs. 8000/=. ii. Depreciation on machinery @ 7.5% p.a. <UL-7. 5%&!’/’}6/"" A :‘.’__-JJBDDU#/?J[_;LFI i

lii. Insurance is prepaid Rs.600/=. _.:;_a.x.fI;FuC :’_-JJBDUf'—('_l/"E;;J Al
7. State with reasons that whether the following items are capital or revenue. _dLJLLu“d:L ut;:‘J:E;J:fa..lzuy.?: Ry &

I. Wages paid for manufecturing of Goods. _LS;:;/JJurAZ_z_IL*Iw A
ii. Regular fee of the legal advisor of company. _u"d’df"J/—"dsftsZ:u‘f Ji
iii. Amount realised from the sale of old machinary. -HJJIsLbJJ‘bLJJdef*—"dL/ Al

iv. Expenditures incurred on renewal of patent. ,ublflfi_l;.filxa_l:fd;bc;a_ /¢.£Patent v
v. Expenditures incurred on altration in window, ordered by Municipal Authorities. = bL71J_1s cfiixf’xJu/ﬁféﬁfK)J)f v
vi. Interest on loan borrowed for business. _:rxu"jiéfd‘biﬁxlﬁ Vi
vii. Cost of goodwill. =N i

viii. Interest on loan taken for purchase of machinary. fJ/ZéJﬂai-Ld)Uf{df/ Vi
ix. Amount spent on the uniform of the staff. HJU?Jﬂff 2ol

x. Expenditures on replacement of slate roof by glass roof. __J.pr)'fzi.ﬁ(} Py JL:S‘[JLLJ X
8. Rectify the follwing errors. .:f—/f:.sJur”‘J.:Ew 8
I. The purchase book is under casted for Rs.3500/=. -u'i cf(f J.L.J?JLJJJE_:U35OUJ" ij b
i, Salaries paid for Rs.15000/= were wrongly debited to wages alc. _L.s/_.u— ;u’,bf....«flc_(f’)i 4N L,Iyu ¢—3,15000/= é" i
iii. Goods sold to Moaiz amounting to Rs 7000 was wrongly posted in J,.,Lalfa-f.:. fkfuf_m,’;w(fg:.urf?t&"f,c” il
purchase account sl :f._.:ff
iv. Interest paid Rs.1200/= was wrongly posted as interest received. J_wa: L,r‘,,l!d ﬂjmz.fh u"/" 28 r.muw_;mzé" v
v. Freight on purchase of furniture was wrongly debited to freight _LJ/’:.-—’ 3 H/ r)::.fh?lfr:i r/fui(fﬁja_.aMSDDI é"

account Rs.1500/=

vi. Payment of repair expenses on furniture was wrongly debited Lt 3 J/,»’.«.:.JJU’ f:!JZ,}’JfJ//’H_,:ﬂUDUI Zf" Vi
to furniture account Rs.1000/= ..;_5;/
9.(a) Prepare accounting equation and enter the following transactions. _J_/ &Ijxlﬁq;ﬁi E&fuuiu:ﬁ_lj;.:.«bp&f ¢ (1.9
i. Mr. Tarig started business with cash Rs.90000/= LOETE ke g a0 Vre 9L Osbp” i
ii. Purchased furniture for cash Rs.10000/= Sy B s i
iii. Paid office rent Rs.4000/= sz eI ASE R i
iv. Goods purchased for cash Rs.9000/= s\ E I b I./ufféﬁm AV
v. Cash received and goods sold Rs.15000/= Yy ;pwJ_.;:/f AL v
(b) Enter the following transactions in Journal and prepare cash account only. -:_)’JLJ U/E'Jﬁ_:f.uldfb.ug,ﬂ.ﬁ't;:;fu:uJJJE,;(u)
.. Mr. Muhammad Asif started business with cash Rs.75000/= _Lﬁ'.clh’;LuK.:_[)Jﬂs_u?E)DDDf— L
ii. Goods sold for cash Rs.9000/= - U )AL Y T
iii. Goods purchased for cash Rs.7000/= _JJ-JMMJA_M e il

iv. Cash received from Mr.Akram Rs.900/=. (v) Discount allowed Rs.100/=. -d)¢y@’a;:;f (V) dﬂfdﬂé___uﬂcﬂrf I~ v
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Inter - (Part-1)-A- 2016

RollNo. _____ . _« /ppmed PaperCode | 6 ( 7 | 0 | 1
Sessions;2012-2014:2013-201582014-2016
Principles of Accounting (objective Type) () d)b..,«l?df’

Marks: 15

Time: 20 Minutes &2 20:23 15:

/'.’UFFJL.;[}_; EU_I;’:c road MJJTUfiﬁu%fuf:?_ﬁé_J D.ul,C,B ,A#Elﬁéﬁkﬁdlﬁq ’4’?{(} K@E(ﬁy”fd}&@fﬂ&amrﬂ;?&;

U e SLS LN I3 SusibED | CBe A sz L

NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B.C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

" 1. Drawings are deducted from: -:‘;.JLgd/Lf‘ﬁlm 3
(A) capital i, (B) sales =3,/ (C) purchases (/ix/ (D) opening stock a/?jnjfﬁ:f
- :L 2. OQutstanding expenses given in adjustment are called: _@L%@foé;%Méf.ﬂ?algffﬂ:m.f-ah 2
_ (A) expenses = LL7l (B) Liability ($sls.3 (C) Income {3.#? (D) Both A & B Uss
. 3. Bad debts are debited to: b (Dr) endebsje s 3
(A) Debtors alc =¥ (B) Creditorsalc  =W¥ o5 )
- (C) Bad Debtsalc =US¥ebs e (D) None of these 3de Ut
4. Building destroyed by fire is a: _:;._J:r:u[,fdbi_m?,.zujélf T 4
(A) Revenue loss  wliidL (B) Capital loss  lSsl -
(C) Capital Expenditure =bi/1§il - (D) Revenue Expenditure = bl71l
5. The errors which affect profit & loss a/c relates to: - bﬁJJ'J E’@Jﬁt’»fuu‘ﬁ:ﬁ;ﬁ:upﬁuﬁ .5
(A) personalalc ;M/Lf? (B) Realalc :Lorfdhf? (C) Nominal alc ,:lal/d] (D) all these oy
6. The difference in trial balance is transferred to: ,‘;_t"._aL—'/J‘:' (S T
(A) sales alc = ¥=3s) (B) suspense alc 23KIU¥
(C) purchase alc =W ¥(S/x 7 (D) None of these ui";J:C:.ufwl
" 7. Abill of exchange is governed by 'Negotiable Instrument Act"; ,.f;_aﬁafﬁg%gjﬁ?fc)ﬁ;h;}di‘n 7
"7 (A) 1880 (B) 1881 (C) 1984 (D) 1985
. __ 8. The legal tenure of the bill of exchange is: -:;_a:;:f:mﬂsjﬁ':fdﬁa 8
-7 (A)100days ¢y (B) 90days (¥ (C) 80days ! (D) 70 days (s~
9. Balance Reconciliation is: -q._&:—r{Balance Reconciliation) 2" 5% .9
(A) AJoural Jzfl  (B) Aledger A&-f  (C) acashbook UYL (D) AStatement (i
10. The cash book is: cednd A 10
’ (A) subsidiary journal JL? (B) Ledger ﬁ (C) Statement B (D) None of these u:'!ﬁf;ﬁul
1. Which of the followings is filled up, when money is deposited into the bank? ?.ILH,'-“U:;:(J(;JJ:E.:E:E_IJ[(‘}E:JH@: 19
) (A) Pay-in-slip n;l“{_-ﬂ{:,. (B) Cheque & (C) pay order J.Lffr’?- (D) Draft &AL3
12. Assets normally show: S ptrlea bkl 12
(A) Dr. Balance u"l-'f Dr (B) Cr. Balance u'ﬂ:'Cr
- (C) zero Balance u'u—%g} (D) None of these uﬁf-:ufu'
" 13. Loss of goods by fire should be credited to: - blna mgﬁuﬁéug.,ﬁi.f T.13
_ - (A)purchase alc =Wk s (B) Loss of goods by fire ;J&ﬁﬁéu@;;gﬁj 7
- (C)Salealc  sWK=ss) (D) None of these 73 o
14. Who is responsible for recording of Business transaction? ?ﬁ-.it‘mf:,.»juf K530 :ﬁdzlfuﬁ' 14
(A) record keeper Us& 3,6 (B) Accountant 261 (C) Book-Keeper L{ (D) owner {l
_15. Banking business is an example of: —e Je LUK E 15
(A) Trading Business  As/§ (&2 (B) Manufacturing Business La/K¥5_ S
(C) Services Business Ls/K (s (D) None ofthese  Uie Ufu

899-011-A-7¢



Inter - (Part-I) -A-2016

- i i i - -

Marks: 60

i
i,
iv.
. What is purchases return book?

i. What are the different parties in bill of exchange?

Vil.

viii.

_ Note: Attempt any three questions from the following.

Sessions;2012-2014;2013-201582014-2016
Principles of Accounting (essayType)
Time: 2:10 Hours & 2:10:=5s

2x 18=36
Write short answers of any six parts from the following.

Section -I

. Define accounting.

. Define real account.

i. What is trade discount?

. Define double entry system.

. Define voucher.

i. Define journal.

ii. What is balancing?

. What is "Zero" Balance?

. Describe the purpose of preparation of Trial Balance.

Write short answers of any six parts from the following.

. Define Cheque.
Give any two reasons when the bank dishonours a cheque.

Define the subsidiary books.
What is double columns cash book?

ii. What is inland bill of exchange?

. What is discounting of a bill?

ix. What are noting charges?

Write short answers of any six parts from the following.
. Define trading account.

. Give four examples of direct expenses.

i. Define accrued income.

iv. What is meant by interest on drawings?

Define revenue expenditure.

. Define deffered expenditures.
Why distinguishing between capital and revenue expenditures is necessary?

Define errors of principle.

. Define errors of posting.

Section -II

Record the following transactions into Journal.

Started business with cash Rs.10000/= and furniture Rs.5000/=
Purchased goods on credit from Ashraf Tahir for Rs.11000/=.

. Deposited cash into bank Rs.3000/=
Received cash from Chaudary Rs.8900 and discount allowed Rs.100. _g:e.;u1UD..*.-:%’Z-EI&:.L;IL&dﬂsc,dq;g%:.:agﬂn;’: A
g P g s U 10% VK 2,10,000/= .
...‘L‘fLE_L‘;(LJLJ”IanJLK%JJSDUD#JLW,:;K

Purchased goods for Rs.10,000/= at 10% trade discount.

i. Withdrew goods by owner for his personal use Rs.3000/=,

2x6=12

2x6=12

2x6=12

3x8=24

PaperCode { 6 | 0 | 7 | O

(28 d)bu.,fl,-?yr’ l
60 : &

Jil >

.,q_'/g";.:fLfﬁﬁgﬁffxl{c_:éf;u:difw:

_f.-;é.‘/?d/ﬁib’l
A 1O
S o A

- éﬁﬁd}lﬁﬁ:@bﬂgﬁu A

Py AT
Sy yAPTY
e :i/'l_frc'_.dxbld[}:_‘
Sl U win

Tr:;l_cr.i;_j(_f';hftju :
?ugé_ﬁc}_fu:@. Al (g
e doelf e
Tci:.ﬂ/g:.tbﬁ‘}.._.{dﬁf

2B .
,L{):.ff“:.a&lﬁﬁ-ﬁplmngc_.df;uf J_’:'E.u.r :
_Q/_gﬁdlﬁib/laﬂf i
_L;.:”‘fu:’t‘ugJ;t?fﬁf.:fugu .
P8 GaTEn U i
?;F:..:l/_[f:,;r'{uéw |
SISy

YA I
?%d;:/bu{tfﬁjufalgljlﬁab Jalﬁ_ﬁr
S AU

13 >

SSSety ff e LSt L s

_LZ;EUIJ,J:IL):{‘:.}JJ}C‘& Uvbfg,fj (v

_kfc:/:"; s FL/_?)%-}JSDD'D!:JJ{{SIF}J;M1 0000/=

Al 282 311000/=c b3 1
&1/t e 5/3000/=

2

S|
i

Vi
Vi
Vi
S SNsB St ST
S ez L g = e S SsTn
JIBAG
uii;b/r;jr’féuﬁnf%q;c)kagﬁjud&’/
SIS i

?;:_.:f,r'"lr’::.‘.‘fuq(_j}ﬁu i

Vi
Vil

Viii

Vi
Vil
i

—L«.’.’/r-é‘/UUx,wJﬁ; i

IX
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dii

Vi




.
il
iv. Dividend collected by bank Rs.7500/=

Ii.

il

.

. Prepare a Bank Reconciliation statement as on 31°' March 2010 420105431 K;;}%;._';KLL;;-‘!

of Imperial Corporation. _géjgﬁf:;r}f
. Balance as per cash book Rs.5400/=. e 15800/=L LA

Cheque for Rs.4000/= issued but not presented. -E_Jfﬁiﬁu’:-.-f;é-é:ﬁfﬂdb tﬁé{jﬂgé&ﬁlﬂ%é%ﬂd-ﬂﬂ[]f:&r
Cheque for Rs.8000/= deposited in bank but not yet cleared. us':_JJ’s‘,-}dj""J[jlﬂ BRI 4’.4;_”3000;56;‘
S CAAL S e s 5001875k

Bank charges Rs.1500/= debited by bank. -L,‘r;;#;z;g;#é_.msuof:i_.&

. A sold goods to B for Rs.3000/= on 1% January, 2014 and drew upon R CO PR 21y f2014.524
him a three months bill for the amount on the same date. B returned it 53._U"’{fi‘—fﬁl{&:élﬁgffézbdl;:fmfeﬁ:)
to A after accepting it. On the due date the bill is duely met. _Jifféxtuﬁﬁlﬂ&dh_pL‘;j;’;_.ic.«'_fjfﬁ!i.d
Record these transactions in the Journal of both the parties. -L{/JJJL};;!LIE;W%{:JUL,.;aM-»‘

. State with reasons whether the following items should be regarded as L@dﬂ/,f;{fqﬁc.dﬁt;ﬂj,?;ﬁ
capital or revenue? - _..:flg!flayt
Wages paid for installation of machine. -Jf:f.:.f.»?f{i.@d?
Custom duty paid on machine. .,L?f:ﬁ:f{g;ié’{jgiry .
Cost of air conditioning. el S BR e

. Profit on sale of fixed asset. .,lﬁ‘_}‘upcj,b-{gfg;ﬁkul“ '
. From the following trial balance, prepare trading profit & loss account and E’L:J'L-zﬁ:ga;_lf’"bcy_f}’?cdyt_l:@[jijfgtj_yﬂ

balance sheet of Mr. Sameed for the year ending on 31 *! December 201 3 ..’:‘_,f-':_l,}‘2013ﬁ31 Jl.ré_b:ﬁaﬂfbﬂ:lnr

Particulars i Dr Amount r!f Particulars iy Cr. Amount ﬂx
Opening Stock EZEJUJ:! 10,000 Sales :.—5:} 25000
Purchases A7 15,000 Purchases return . /(5%!s 3000
Sales Return ~ w=33/(5%1:  |2,000 Capital sl 14000
Wages o4l 5,000
Plant ) 10,000
Total izl 42000 ﬂTotal e 42000
Adjustments: :MI’
i. Value of closing stock Rs. 10,000/=. -&-2,10,000/=u 258 03
ii. Wages outstanding Rs.1000/=. &-2,1000/== 21 Ul2ls
Depreciation on plant @ 5% P.A. ;UVS%fﬁﬁr){&%
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* Inter - (Part-I)-A-2017

ROZI NO- L.,G:ﬁjf,l,yi

Paper Code 2 17101

Sessions;2015-2017& 2016-2018

Principles of Accounting (objective Type)
Marks: 20 Time: 30 Minutes &2430:2%

(&) d)lﬁﬁab’yr‘l
| 20: 4

E AN 61z *w;:h_;«‘f'fhffﬁd?'rt_géé_,:DJ:F,C,B.A;LLQJJELJIFA-Efgjdn (255 Szl e trpiins
N S e SIS S0 37 UL D | CBe A szt
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

geestion with Marker or pen ink on the answer sheet provided.
1.1. The first step of accounting is:

-

2. Language of business is:

(A) auditing &:Utj_; (B) book keeping (/s> (C) banking (.K

(D) allthese (U
---?-L'JULLEHK 2

(A) accounting (-s—L> (B) auditing Lsf:Ubi_; (C) Economics <=l b (D) allthese (Ui

-3, Balance sheet is prepared to know. -;;_Jlg&g#’ .i_/rc}" _____ HEJJ: 3
(A) profit of business cjjs}px (B) loss of business  lLFKiLsb

o (C) total worth of business &JLJ&LJJK , (D) allthese (Ui

4. Resources owned by a business are called:

(A) assets = b2 (B) Liabilities =2l (C) capital A,/

5. Increase in liabilities is recorded as:

_UELMLJ':HKJL‘}L}:O;&EME, 4
(D) None of these e Ui
_ai..l:'lgl_;rbéu:r.i&iu:;[m: 5

(A) credit =4/ (B) Debit oz} (C) negative (§ (D) positive o

6. All business transactions are first recorded in ..q_btg»l_gr'fmuf--__i‘-i?qwijd;gus’rb? 6
(A) balance sheet 22U~ (B) trial balance =i
©) Journal  Jz (D) None of these U/ = Lo

7. An entry in which two or more accounts are debited or credited is called:

E“;J.h.‘ﬁ-v.ﬁ-:./j:{;s.‘.‘-;:.jz_ LJ;J&JEJJLJ:L})—@U.{IHP g

_%Jlﬁpﬁqﬁrf_l{i

(A) simple entry {L.lsl- (B) contra entry {lushle> (C) compound entry 6&}&..;/" (D) allthese (li

8. The normal balance of expenses is called:;

(A) Debit o} (B) Credit =t/ (C) Positive =

9. Left side of an account is called:

e bR bl 8
(D) "Negatiue (5’
_%GMJ)’L):LJ:H:Q 82

(A) debit side iAesi (B) creditside iArt/  (C) positive side  iAhed (D) aliofthese (U

10. A person who accepts the bill of exchange is called:

e bl BRSSP 10

(A) drawer a.z.;i(..._.}'f (B) drawee I/ (C) payee u,C-UU:“': (D) None of these uﬁﬁ:’::__dwl

11. The grace days for payment of bill of exchange are:
(A) s 9 days (B) ¢» 7 days (C) s 4 days
12. A favourable balance of pass book is called:

L= al eSS 1
(D) w» 3 days
e bW PRI LU 12

(A) debitbalance U'J-'-'m:* (B) credit balance J"-L-l..*.—é/’, (C) negative balance u"*’d" (D) all these r'[?,:

-13. Purchase day book is maintained to record.

_ﬁ*:..t'l.g,lil‘r.i{.’.i_.)/b@z): _____ af{t)u A3

" (A) cashpurchase (/s iS@ (B) purchase of assets (/xS b2k
(C) credit purchase (514 7ules! (D) all these rL?,;,

*4. Cash book is a branch of:

.15. A gradual decrease in the value of intangible assets is called:

(A) trial balance JU-FJ’?} (B) Ledger /"'-’- (C) Journal Jz

-;.;uéu:_QJ____-h.g‘Jf 14
(D) all these (UL

ST e d Sl 15

(A) depreciation (s}  (B) amortization ¢#7&Al  (C) Depletion ¢} (D) allthese (U,

16. Which one of the followings is an intangible asset?

T2 E!J//fufc;t,}fd:j@u .16

(A) trade mark  WEGE (B) plant ik (C) furniture &/ (D) allthese (U
17. Freight on purchase of goods is a: , _..-.;_bg’r,n);u&}&;u A
(A) indirect expense  &.7k-Isik (B) operating expense &K et
(C) direct expense & il (D) None of these u.?ﬁfcﬁﬁuﬂ
18. Loss on sale of fixed assets is called: _L,Eifuuﬁ)_l;é_ﬁ{:ﬁ:)gfatgﬁ&!}p .18
(A) revenue loss gl dUL (B) revenue profit CEA:JJ_LJL (C) capitalloss L5l » (D) None of these e st
19. Replacement cost of worn-out part of a machinery is called: _.;;.GMUUJI:LT{& AR YN / Lokl 19
(A) capital expenditure @ﬁd:i./ (B) capital payment ﬁr:fdstf
(C) revenue expenditure &7 JyL (D) allofthese (lL

20. Sale of old furniture recorded through sales day book is error of: _+.dML$£k Jé_/ Cons :ﬁ;}{t;.:J&:}Jﬁlﬁi.I{ 20
(A) principles Susi (B) ommission JJ‘;:J:?' (C) trial balance JJ'J'-'JI} (D) None of these - e o !
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Sessions;2015- 2017&2016 2018

(;t‘ir)de..:.aL?‘)f |

Marks: 80 Time: 2:30 Hours & 2:30:=% - 80:
Section -1 2x10=20 J.‘i’l,.-b
2. Write short answers of any five parts from the following. 2x5=10 e ryﬂ&v Iétc,dfc..wd':bu .
“ i. Differentiate between book-keeping and accounting. qfugu}up:ﬁ..ﬁﬁun.é{.{ i
i. What is discount? ?@Té’é__._,,{ i
Tii. What is dual aspect concept? '?ﬂ:.,l_f(;/jb’sjzf,a_.ﬂn Jii
iv. Why journal is called the book of original entry? e LU U v
«v. Describe the main objectives of preparing a trial balance. _L,:/;_'J!::Hli?ﬁ Iéi_):yu’ﬂ-’-ﬂﬁ} WV
vi. What is pay-in-slip? - | ?ﬁz.a.rr__bf?,lﬂuf% Vi
vii. What is bank overdraft? e tnlEh LKL il
viii. Define the subsidiary books. | _;_;_*)}flgﬁJ.T:f’dﬂ,a viii
3. Write short answers of any five parts from the following. 2x5=10 -L{};ffaglﬂ/‘?iplz!é&a,Jf:.;,td’"jb;: i3
i. Define bills of exchange. St S R
ii. What is meant by acceptance of bill? |  telle A0
iii. Who is payee? Sl Y osd Uy i
iv. Define preliminary expenses. _u:f..._‘c;*/"'J.:.«LgIﬁIJU&I iV
v. What are bad debits? | sl urfe 2 v
vi. Define balance sheet. _Q/_Q}JJ;FJ% Vi
vii. What are adjustments? St dalfe6F i
viii. Define suspense account. | _L{f__i_l/"},(..tﬁib’i Viii
Section -II ) >
Note: Attempt any three questions from the following. 20x3=60 -L)'/JJU’._«JJI:" (_)f:..J;(:..JJ: IR |
4. On 1st July, 2005 Mr. Ajmal draw on Mr.Bilal a three month bill for d/_JLJL:J;Lr::xJu/A.J'P/fZDUSL}UPrf ;

5.

i,
II
i
v,

v

Vi.
vil,

Rs.2000/= who accepted and returned it to Mr. Ajmal on the same ~ J“I /Lfd#a.du /.J?'Lfi A LSl LS 2
date. On 4th July Mr.Ajmal discount it with his bank at 6% p.a. The  2U-68%c b ixd S 43020450/ Als
acceptance is dishonoured on the due date. uﬂr...f 51, dﬁf}[ﬂuf’_dh/r’u.igdc.ub?zc

Show the Journal entries in the books of both drawer and drawee. il lﬂrz,ml'gﬂu:’bﬁfu‘”/u:'n

Frorm the following particulars taken from the books of Noor Traders. ufr:(._ﬁ.«::.hﬂlféia.u" J,ux.m’ -
Pepare bank reconciliation statement and find out the cash book balance. ..J)F‘;"’u"' b’..C' u"/ﬁf Cedbe

Balance as per pass book Rs.85000/= ie__:;85DDDf"JJ'b’|.fJL :
Deposited cheques yet not collected and credited by bank Rs.3000/= — st Jsvffie_1,3000/= :{*wa;f:..!s/gd..ﬂ :
Issued cheques yet not presented in the bank for payment Rs.7000/= -r_:fu“JLﬁJu”,Ia_u?DUDFé’_ISuyu’;b :
Interest on investment collected by bank Rs.1800/= —L‘rdﬂjﬂ_-u-ﬂ'.ﬂfﬂ—-}i"lBDUJ‘I""J’{,{JE:JL/ N
Collection charges charged by bank Rs.50/= ...;'i‘...—ﬁr'..uﬁof—h[pu‘ﬁfd_.._ﬁ :
Interest on deposit credited by bank Rs.300/= -L.ur.-i_uaoor-a__.@r;_wc’ .

Insurance premium paid by bank Rs.1000/= _d:fﬂa;umﬂt}f S0 P

Vil

T g




6. From the following Trial Balance of Riaz, prepare trading and profit o1 K[;)La'ﬂ}:lff[ KJEJLJJJUJJEL}iLJTJ".EEVJJ .6
and loss account and balance sheet as on 31 Dec,2005.

Adjustments:-

Description =i Debit Rs. |Credit Rs.
Cash S 10,000 -
Stock o/ 5 20,000

Debtors S 12,000

Drawings U@ Iaz 1,500

Purchases Sils 7 110,000

Wages S 5,000

Expenses =l 7l 6,000

Furniture 3 4,000

Goodwill H/rd" = 30,000

Creditors nFﬂf/ 14,000
Sales 33/ 250,000 )
Capital b 70,000
Building . Oy b g 135,500

Total ¥ 334,000 - 334,000

i. Closing stock Rs. 10000/=. ii.
il. Prepaid expenses Rs.2,000/=.

iv. Out standing wages Rs.1,000/= ..rj___u‘i,DDD;‘=szfI:1fr_‘.~zh AV
7. State with reasons whethers following are capital or Tq;u!;{?bliuyﬁ&yLw:L/Jj@ﬂlf 7
revenue receipts and payment? -ufffuyh/

i. Paid for the carriage of goods purchased. _Jf IJIJLI/CW’J L-«i ¥
ii. Amount spent on purchase of a bus. ..Jﬁ,fﬂrfa_,ufu” i
iii. Cost of good-will of business. ~SISEVSAK il
iv. Legal expenses incurred in purchasing the land. ifliubiild:’b/)f(,(u*; v
v. Heavy expenditure made on advertisement. _ﬁ’_ln..-bf]fd.xb‘fﬁ-) vV
vi. Repair charges of furniture. _,?;L?._.J/Lf/ AU

Depreciation on Furniture @ 10% p.a.

+2005 /534 5 St ol

el
10%@Usr3r 7 il ~2_310000s 255 (51 i

_.g___,s.fznof:-fﬁ..,tfwwmvﬁu‘

vil. Profit earned on the sale of goods. ..LU’@L*JH:»;}J L~ i
viii. Wages paid on erection of machinery. i[_fi:l._.rﬂz..#ﬂJd/-’ Viii
8. Rectify the follwing errors. sl‘i/LErJ{!U}‘U‘JJCMJ 8
i. Received an amount of Rs.1500/= from Ali wrongly credited to Asad. _L.s/._*.-.»)jfyb.:. ;:fc.’f dr":i_u*iSOD!"é" .a,d‘ N
ii. Purchased machinery for Rs.12,500/=, posted to purchase account. -3/t t=E sl oufald.x .?L,/f‘d' <-1,12500/= é" i

ii. Goods drawing by the proprietor for Rs.150/= but wrongly credited to Lf-.J._rL’IJJL_JJ'iSDf gALJWFJiJJLﬁL;JK i

sales account.

..L..'an..-.#/g:.-f.i E'f._.-?:f.:, Lﬁbp

iv. Sold old furniture for Rs.2500/=, credited to sales account. _JL;/_,A);‘;F:E' IH}JJJLUU‘ Jr...fz*:/’tf/ /’d..-lfd_-.uzsﬂﬂf'—d"
v. Goods worth Rs.250/= returned by Kamran, but omitted to
record in the books.

AV

Lt A e i w&_uzw-é” v

LJ#eS

vi. Purchase book has been overcast by Rs.300/= _BLAI e 3,300/=6x 2=l i
9.(a) Show the effect of each transaction on accounting equation. u‘ﬁ-..fl.fo....-I:L-Ade*EU :L}J S (LiD.e
.. Ali started business with cash Rs.25000/= _JC,:/;L:;K.&_. (,g&::'_.LfAﬂJr‘_:JZSDUDf— i
ii. Purchased building for cash Rs.10000/= -U?LSJJ'»_«JULLSJ-’JJL—H1UDUUI* i
iii. Purchased furniture on credit Rs.14000/= Ltf/j.szILﬁ‘i:Lu‘IdU[}U!u il
iv. Paid wages Rs.1125/= uf:f ;ldgay(,fa_u1125f— AV

v. Ali withdrew from business Rs.1200/= in cash for his personal use,
(b) Record the transactions in Journal and prepare cash account only.

i. Started business with cash Rs.22000/=

_.-:.._l}és’_u‘iZDUf-c:_JLuB/A.LLJL“"F{J!;;{_.J‘ RY
-J/lfpu/b/u":-’/ijpuﬂ;z/})u‘.ﬁ.tJJJl(LIJL}J (.__,)

+|

Vs ;LJ;KLUMJA_::22DDOI‘
‘/é;fwg_wué_yzonoh i
Pless pletB18e_115000= i

Sl FELL 58000/ iv

ii. Purchased goods for cash Rs.2000/=
iii. Sold goods to Ahmed Rs.1500/=
iv. Paid salary to clerk Rs.8000/=

-890-011-A-6000
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RollNo._ e SGo# Mt PaperCode | 6 | 7 | 0 | 1
Sessions;2013-2015&2014-2016
Principles of Accounting (objective Type) (&) d/l;..:.,L?dy‘l

Marks: 15 Time: 20 Minutes &420:25 15 /
/Um,rud s’d R cen Wizt £ 4 9D.sI,C,B A_.,Liy,m&)rfﬂgg AT /’u%;_.-ufi._,ﬂfr(u <y
; _L,r;/fc«_.a,ﬁL-JJL/ W S5 LD L CBe A szt L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1. Any activity undertaking for the purpose of earning profit is called: _uf.;'fc_l'q:_ J%Jé_éi_wcj,wﬁyfféf i
F (A) transaction u}i';ff (B) business ¥ (C) profession 2z (D) dealing 3
2. Assets - Liabilities = —rmelal - 2 b2k 2
_!-,‘ (A) capital L\ (B) profit Cu (C) liabilities =121s (D) assets bzl
.3. Real accounts are related to: _;‘:_,t':waEU?lﬂfff? 3
.= (A) assets bk (B) expenses loss and income = u Tslyleiz k17
(C) debtors ./} (D) creditors cslP S/
4. Written explanation below each Journal is called: *q_,g&:fc.f.g.. Jﬂu’gy L—hﬁ;ﬂ.éd}fd’;ﬁ'ﬁ 4
(A) entry (! (B) narration ol (C) double entry (#ILf3 (D) compound entry §£105
5. The king of all the books of accounts is: A BT DT TI
(A) Journal 7 (B) Ledger /2 (C) Trialbalance J™fi} (D) cashbook (Y
6. Petty cash book is a branch of: ig_élxh{f!& 6
(A) cashbook (¥ (B) passbook J{Ut (C) salesbook L% (D) None of these UZifles”
7. Bank reconciliation statement is prepared by the. _iz,bﬁgbﬁ .,'J'::"'f,uﬁf F
(A) customer ¥  (B) banker _F (C) auditor £37 (D) None of these u:'fﬂfdf
8. A bill of exchange is accepted by: _q_t?/ﬁ.pfdi:q 8
(A) creditor o5 F/  (B) debtor (A (C) third party J;__gd/é‘ (D) holder JM&LJ’-
9. For payment of bill grace days are: | _pgilgg::u:&bgff_iﬁFﬂJdﬁ: 9
(A) two days (s (B) three days ON04 (C) fourdays b (D) five days u,uf;,g
10. Gross profit is transferred to: _;‘:Ft‘i.;lfy c;bfrlé 10
(A) capital account ui‘.:LafoL/ (B) profit and loss account Lﬂ;[afﬁuwﬁ;g
(C) balance sheet u.f..:.ﬁ)"-l-’ (D) cash book u.’.'..fu:-'-(
11. Drawing are deducted from. _?bl?Ubﬂ'fu&Lu % e
_ (A) capital <l (B) sales =3/ (C) purchases <4/ (D) opening stock :;Ja/i"j[.&:ﬁ
,»-?2' A gradual decrease in the value of fixed assets is called: _c;_JUH:J:?iPuf.:q’f J:.flfrﬁEiJJ"o’( 12
" - (A)appreciation 3L/ (B) fluctuation 37t (C) depreciation (»} (D) None of the three e Jtus
- 18, Wages paid to workers on the instalation of machinery is called: H;;;.&U;‘:d;u,?fd:fumf{i./_,ﬁfdﬁ’ 13
1 (A) capital expenditure ::Lglﬁfd:l.f (B) revenue expenditure .:.-l._s-fﬁfayi.
(C) capital loss u)L-e'E’U,sL/ (D) revenue loss uuﬁdyL
14. The transections which are ommitted from the record are called: _L{_rgllg@ﬂgdﬁwt/bsjmq:c)f .14
(A) errors of omission  ULE({ Sz (B) errors of commission  JLE¥Ssd srs)pe o
(C) errors of principles  JL&4 s (D) compensating errors bk L
15. Gross profit is always. -..fztﬂclibﬂrL; 15
(A) more than net profit < tsostic b e (B) less than net profit e bsrfe L Pl
(C) equal to net profit :;_bﬁxlxééhfjﬁ (D) None of the three sl (5 e S UE
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o &
L&Jf’.f'!.{-_fl

Sessions;2013-2015&2014-2016
Principles OfACCOHIltiIlg (Essay Type)

(26 del.:.-L-?dr"l

Marks: 60 Time: 2:10 Hours & 2:10:25 60 : 7
Section -1 2x 18=36 dli’l.-‘b
2. Write short answers of any six parts from the following. 2x6=12 -u_’)}/-.:fLlﬁﬁ?ﬁfizigc,éf;u&fjbﬂ 2
- 1. How many types have a business organization? Tuf(ﬁlfgﬂ&if;l,u{ A
ii. What is business? LN i
jii. What is called credit transaction? L Tt i
“iv. What is trade discount? el L st J;_L:? iV
f,y. What is an accounting equation? Tugcjfcfar:u,gf*:iﬁ’f N
- oi. What is artificial personal account? ?.f‘;;ygr’;.;mﬁdw Vi
- vii. What is meant by narration? el GA 1 Vi
-viii. Explain trial balance. _L,_[‘f..-.au;Ju”'-'f'JT} Viii
ix. What is Ledger? ?.'.";JLK#L—’/.:_,':H/@/‘ X
3. Write short answers of any six parts from the following. 2x6=12 _.L,_Jj/’}/:mLiﬁﬁ"szzigc_.éfaptd_}@» 3
i. Define cash book. | S
ii. What are subsidary books? ?g_;yge;.,:fdj i
iii. What is purchases book? Se sl uizbin i
iv. Define bank draft. _.’AT?L@/'J'J.:}!;;..E iv
v. What is discounting of a bill of exchange? CeslpUe tids Sl v
vi. Define bill payable. u&_‘éz@ﬂ_ﬁ,ﬁf:i()ﬁ' Vi
vii. What is rebate on bill of exchange? stV eclsSi il
viii. Define grace days. -E,{_Ef/"gu};ﬁ ks viii
ix. What is insolvency? SV Jys ix
4. Write short answers of any six parts from the following. 2x6=12 _u’/} HLI,P/‘féiprir;;;,df;u"J;@; 4
.. Give any four examples of revenue expenditures. HL,EJJJL/J'.{?LYJ)KJ_JE?[;[L;LJL i
ii. Explain capital expenditures. _g_,f/_-.:L:uJ:,b;IﬂdgL i
iil. Define error of commission. Sy U SO i
iv. Define capital receipt. _L{fhgfgfdﬂ:dﬂ IV
v. Define compensatory errors. Oy ARN A A I I
vi. Define accrued income. _L{/J }U B.:.Uﬁfr_éf: Vi
vii. Define gross profit S S E et i
= #jii. Define prepaid expense. ...L,}’/EJL-»..:J',P Jt,fwuruﬁ Viii
ix. Define direct expenses. _q/_g/’;fa,@lﬂubgu X
5 Section -II 93 0>
Note: Attempt any three questions from the following.  3x8=24 -t d‘:..rlllr uf LL;J(LUEJJC/JJ W2y

5.
i
i
it

v,

Vi.

Record the following transaction into Journal.

_L,"):'/;J'J tJuE,FJMKJ:uJJJLJ: 5

01 March, 2015, Ali started business with cash Rs.50,000/=.
04, March Ali bought Goods for cash Rs.10,000/=

09 March Sold Goods to Faraz Khan Rs.3000/=

12 March received cash from Faraz Khan Rs.2900/= and allowed
him discount Rs.100/=.

18 March Goods given away as donation for Rs.1000/=.
31 March Paid electicity bill Rs.500/= and rent Rs.1200/=

WP 9/50,000/=E00 0k 20 f201564F i

WUt 1/e_21200i= B ke e 1500083031

_K2_310,000/=8 4 S SE B B A04 i
_JJ:}[UINV&J?JLJ%_‘..JJSUUU!':CJ};’/@;L09
Se-3100/=L S re_2:2900/=87%_ 631)5A12 i
_:_5;/(:.«;&.: :
_Lﬂs;/ﬁw_-,r,éfgr&,gtéﬂu1uoof=éf &A18 .

Vi

e o o . e L e e i e . i .



6. Prepare a bank reconciliation statement as on 31 March, 2015. #2015E4 31 ,.:wfd{ A Jba_.drf .6

i. Bank overdraft as per cash book Rs.2000/= ~&-32000/= (B lbs 3l br i
ii. Interest credited by bank in pass book only Rs.50/=, -%JJ5UH/¢¢);FU¢4J£L-£_J/; Al
iii. Cheques deposited Rs.155/= not yet collected by bank. -&-3,155/=& ugﬁugﬁk&i.ﬁi_lfr Gl k& i
iv. A wrong debit in pass book Rs.130/= u%;;130!=£_:r¢-;;5516w..{ Ji v
v. Cheque deposited dishonoured Rs.185/=. f.d;u185f=?_.m}"%a§§ V
7. Sultan sold goods to Majeed Rs.6000/= on 1st January, 2015 g&;)fgﬂJ%_:;5000f=fgé_qu«)Zzo1éd,a;—?{ 1
He drew a bill on Majeed for Rs.6000/= for 3 months. Majeed S kibe36000/= g 2 LByt i§

accepted the bill and returned it to Sultan. On the same date Sultan uth-féJl?Jf d;fuJIsfulewf./U;dﬁfé_ﬁiJ
discounted the bill at his bank @10% p.a. On the due date bill was JJJ_-’!EJ/D'—U)"T xd#x,’UL"tU%;J.—.:_iA_

honoured by accéptnr. fd;fuﬁ Iyl
Pass the entries in the books of Sultan and Majeed. -:_,_'_’f e,r;;u:u;gD’ngwmb
8. The trial balance of a Trader Adnan on 31-12-2015 is as under. _.;;.g)_‘ja;:f2015ﬂ31 UJJ'::J?}KJJ&}L:JI;.H 8

Particulars iy Dr Amount E’_ Cr. Amount [i::

Opening Stock  +,2501 60,000

S.Debtors oz S |80,000

Furniture P 20,000

Plant Ak 1,00,000

Purchases f\Fli 7 3,40,000

| Bills receiveable Jsi—ah*  [22,000

Salaries L,f;lj’: 25,400

Cash atbank . (Wt b 18,000

Cash in hand ﬁw 6,000

Bills payable  AtJi_2ls 10,000

Capital A 1,98,000

Commission received % 1,000

Sales =31 45 4,62,000

Interest received (145 400

Total Wiz 6,71,400 6,71,400 J_
Adjustments: :JV:_:EI

i. Closing stock value Rs. 100,000/=. _4_...:.;1[30,[]00# a/.::’id %1
ii. Un-eared commission Rs.300/= -ar_usonhify’lw: i
iii. Interest receivable Rs.200/= ~&-2200/=357 22y i

Prepare trading and profit & loss account with balance sheet for the year ended. _qﬁyﬁuﬂib‘:wfuuﬁﬁé’;;};?dwﬁﬂ
9. State with reasons whether the following items of expenditures _JQLLt_{;'d}l./.:.r[gijdieiﬂfgffw‘[::;b&:«g:ﬁs 9

are capital or revenue.

i. Repair of machinery. :x/de_:f’ 2l
ii. Cost of plant and machinery JHJ&,&%MA__& i
ii. Wages paid on erection of machinery. _uf'jff&rﬂz_i[._ﬁf;prdﬁ’ il
iv. Purchased goods for resale purposes. b I Linss) v
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, A 36z -w;;__‘,.;‘r'f.,,m;ﬁugié_:D;;r,c,B,A:,umﬂé_l__pLerg{;q (028 Gelizl ety ling
i S SB35 sED L CBe A sz L

. NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
s question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. A bill of exchange is governed by the negotiable act: -%.JTJL_{%JE;’L:JJJFLS.;:‘E 44
(A) 1880 (B) 1881 (C) 1984 (D) 1985
2. Legal tenure of bill is: -:T__aﬂ:a,&&;ﬁ'[_{dj:{ 2
(A) r1100 days (B) !l 90 days (C) U 80 days (D) ¢l 70 days
3. The way to write down the assets and liabilities in balance sheet is called: .-r;'_tLL,"G'Ef /‘-’b’ﬂ Ubinle b2 Efu’:uf:?f gjfﬁ LT .3
(A) marshalling B4 (B) liquidity ,ilL (C) realization 4% (D) Noneof these U(de el
4. Net profit is transferred to: ...«;_Hglﬁ_}w Cﬂ’u‘Jb 4
{(A) capital account :’/é‘_lA/‘.CLL/ (B) drawing account fLJLﬁM
{C) Creditor account  sZ_LL 15 f)} (D) cashaccount J2 WL
5. Amount received from the sale of stock is a; -{_J:Sﬁﬂ:f Jdﬁ:;aﬁ:)d],éj .5
(A) revenue receipt ol (B) capital receipt  Jsbsl o
{C) capital expenditure &/l (D) revenue expenditure &AL
6. Any difference in trial balance is transferred to: _.?blggjﬁ J}u.“.ur,}!?gj LT 6
(A) sales account (rsldess (B) suspense account AiKIUY
{C) purchase account r=a? (D) None of these JfJf;uZul
4 7. Eook keeping provides the: ...;.J/rlbpﬂ..g..f i
(A) primary informations aL:"’JH«;f (B) secondary informations = Ls*§sk
(C) final informations =l $ AT (D) allthese (Ui
) 8. The accounting equation is: -cg_Jm;f:L«q}L? 8

(A) Assets=capital+ liabilities (l/bi+ =2kl (B) Liabilities=Assets+capital | +obibi=gl ).
(C) Assets=capital-liabilities  Jl/lsi-1 == b2fl (D) None ufJf

9. Drawings account represents: -.-.;_l:'/Jﬁb?;w/ﬁm .9
(A) nominal accounts UL (B) personal accounts Ju?bfu";
(C) real accounts Ju?La['JT? (D) None of these w*”"(j:r:.u:c,ﬂ |
10. Written explanation below each entry is called: -g_Jkawu:d{/“Aﬂ.ﬁdﬁ[;; 10
(A) entry (/I (B) narration @l (C) double entry $FIs2 (D) compound entry df‘-‘l__.f}
11. The Journal folio is recorded in: _e bbb Sz 11
~ (A) Journal (fgLis  (B) Ledger J,Z-’- (C) income statement “w4To%/ (D) balance sheet JEuiisoisd
12. A bank is: —e bk Ll 12
" (A) commercial institution ul;fa_d._;"' (B) social institution s /bISk
{C) charitable institution umﬂl,é (D) educational institution umgf’;
13. Cah account shows: -—:‘;'_t'ﬁb/-.i'-«:jﬂ(ji{ 13
(A) debit balance e (B) creditbalance et/
; (C) overdraft balance uﬂ-":.ﬁbhul (D) None of these u.‘?"Jf‘:-_,ui' @i
14. Bank reconciliation is a: -+Jﬁ;@_£ 14
(A) Journal st Ll (B) Ledger ;"-{_{I (C) cashbook [ ‘f-"-(.{i (D) statement ulﬁf_g
15. Cheques issued but not encashed are called: -@Lmﬂuﬁéalsﬁﬁénﬁdﬂg 15
(A) unpresented cheques (& & 4z (B) uncredited cheques G& &L ot /)
(C) omitted cheques .gi_l:._ﬂ?:dﬁ (D) None of these u.?;Jf;ufuf
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Inter - (Part-1) -A-2018

Roll No.

ta be filled in by the candidate.

Principles of Accounting (EssayType)

Session;2014-2016

(cen Gl L?Qr" l

Time: 2:10 Hours .f;f 2:10:%

Marks: 60 | 60 : /%
| Section -I 2x 18=36 Jsl =
2. Write short answers of any six parts from the following. 2x6=12 _q&fagmﬁ'fif!zg;é[c_ddmﬂ 2
i. Define business. -L,_Jj/._.ég/‘?&l_,f,aﬁ i
ii. Define fixed assets. _u::”{.éjjgaigﬁbid‘;" i
ii. Define book-keeping. o= FS L i
" iv. Define General Journal. _u;“G_nyJXJ 7 v
v. Define personal accounts. _ufﬁ_@ﬁgfu?br[f; v
" vi. Define Ledger. _J S PSR i
vii. Define real accounts. iu:.”q_é_-’/?Ju?L@r(}? il
viii. Define narration. oL A5 i
ix. Define nominal account. _J/JﬁJu?Jﬁrt X
3. Write short answers of any six parts from the following. 2x6=12 :*.u ifﬁﬁf'f‘f&-d!fﬂ—-[_ﬁd)b.ﬂ 3
. Define purchase Journal. _L,jf..gf/’g_}/_b_.?{tm A
ii. Define pass book. -u_’/'f..é;}"‘u(._{;_,r_l; i
iii. Define sales Journal. SIS P Em3sp 2t i
5 iv. Define three column cash book. -L{/"Lé’/’?&_{ szj €2 v
v. Define contra entry. SIS SENE v
vi. Define bill of exchange. ..L,{/;_E_f/;f(fdi'»i Vi
3 vii. Define discounting of bil. LS8 PSIL ks i
viii. Define drawer. iujfh..y/"'d;ﬂ._}‘/ Vil
ix. Define dishonoured cheque. _Jf_ﬂfJ_E-;/ X
4. Write short answers of any six parts from the following. 2x6=12 -JJ:r/HLL?/‘;LHﬂELd;;-LﬁJJ@: 4
. 1. Define the profit and loss account. _L)’J’...chJd._poiuLaﬂ;ﬂCf’ A
fi. What is meant by real assets? 'i‘r:_.:/‘!fr}_.h_.,tf,..t-iﬁ i
iii. Define balance sheet. _;j/f_ﬂ jEJLJ.:f;uI;’f i
iv. What is meant by revenue expenditure? . ‘i‘r_,: /LJ?;.....A.VL? LEI.JL v
v. Define capital profit. ) _L;/._ﬂ;Jc’fLs,L/ v
vi. Write a brief note on revenue loss. _u'f fufﬁf/uw dLJL Vi
vii. What is meant by error of omission? Sl /Ja.u"’]‘J_ﬁvJﬁ Vil
viii. Define posting errors. | _Jf...eiﬂfo&nf..ﬂvf viii
ix. Write two differences between error of principle and error of casting. ,J/C*fuﬁuifk L{L.&fxﬂ# JJH"F AX
Section -II
Note: Attempt any three questions from the folluwing. 3x8=24 /5’ = 1y L,f Ldfa:;ﬁJ L0V L
5. Mr.Khan started his business on 1% January 2014. The following nLg_,JLu:ZM 4L5;fﬁ.{.kr6;/xgsxb’d_ub/ .5
A transactions occured during the month. J.rrc[w‘-!d:j&,;:
! i. January 1, started business with cash Rs.80,000/= L:,»BU ,000/=lsz{ s /f’:;tub’uj;: N

. January 5, purchased goods from Ahmed Rs.2000/=
ii. January 10, purchased furniture for cash Rs.10,000/=
. January 15, withdrew Rs.700/= cash for personal use.
. January 20, sales goods for cash Rs.5000/=

i. January 30, paid office rent Rs.2000/=

Record above transactions in the General Journal.

&2,2000/=J £ 7J /r_fIEﬁJr’ Ji
_r’_.u’1 0 UDDLM»]/” 21064 i
-;?an-dgfi!_dwduwdm iv

¢ 1/50 00/=BUd =33/ s 22062

_&22000/=Y LUK 430852 i
_L,_[’Juﬁ de}" i@; E"ﬂi;Zw.J



. Prepare trading, profit and loss account for the year ended on 31st March aJ'.!"‘}@:ZU1?EyJL31::'_-JJ5_jJ£LJL”f': :

2017 and A balaﬁce sheet as at that date from Mr. Maqgbool's record. -& ;}_7-‘&:5 '-&:I;;JL-?}E?

Particulars iy f; Particulars Ay Amount |

Amount

Cash S 46,750 Creditors #1150

Debtors S 750 Capital s 53000

Furniture 5 5,250 Sales =35/ 15000

Sales Return  (Fls=3s/ 615 Purchases Return (%li4.? 700

Purchases &7 12,900

Wages (Sans7 100

Salaries ;,gf.:‘*': 1500

Rent A 600

Commission ué“l 385 _

Total oz 68850  |Total oz 68,850 __
Adjustments: Rt (VY

lii.
V.

. S st
. Prepare a bank reconciliation statement as on 31

March,2017
from the following particulars.

Balance as per pass book overdrawn Rs.1800/=

. Cheques for Rs.500/= issued but not presented to bank.

iii. Cheque deposited but not credited by bank Rs.400/=

. Bank charges made by bank Rs.20/=

. Interest on overdraft Rs.100/=

. Interest on Government securities collected by bank Rs.300/=

< January 2002, A sold goods to B for Rs.2,000/=. On the

same day A drew a bill of Rs.2,000/= on B. B accepted the bill and
returns it to A. A retained the bill till due date. On due date bill was
dishonoured. The tenure of bill was three months.

Required:.Record these transactions in the Books of A and B.

_.'A__,@fg_r...l’-é G 20178 A A 5T

__3,1800/= Sl imIE L UL .
_iéu“’mtﬁféaidmbﬁa&_usom-
YURL LS G PG 2,A00/= i
_éalflﬁfhﬁd_JJZU#u/Gflcc;J}’&_ﬁ A
-Lm’-LJMDD.-’—Jr’J._JU;J::l :

L Urruie_3,300/= U e

U i BRI L 12,000/=0 A%20026857f .

Ji ke B. lrﬁs,fwBJba__uz 000/=2_Aws(ST
Ul IkE osbos B A bse s AUIE S
u{fL{/CuJJJ—LffJ/JJ'CJtEJﬂ
S s LU BaA A

. State the reason following are capital expenditure

. Closing stock Rs. SDDI=. :
. Payable salaries Rs.200/=

Prepaid commission Rs.100/=
Depreciation on furniture @ 10% p.a

or revenue expenditure.

. Labour cost for the extention of factory.

. Cost of goodwill of the business.

iii. Replacement cost for the broken parts of plant.
. Advertisement cost for new brand.
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Inter - (Pari-1)-A-2018

Roll No. e Sl Paper Code 27|05
.. Sessions;2015-2017; 2016-2018&2017-2019

Prmc1ples of ACCOHI]tlIEg (Objective Type) ($55*) d) 'Jurulr’ |

Marks: 20 Time: 30 Minutes 22430:5s 20: /4

L A 3881st eon W2 Pt £ & 5D C B AN L i 225360265 T ezl e Ui 9
S e S A S5 LD |, CB Azl
. NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each

" question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

F._ 1.1. Contra entry is recorded on both sides of: - JEJ b;;_.i}'uﬁ:;dﬂ!}-’( 19
- (A) Ledger ui’% (B) Journal Az (C) Cash book JZJJ{ (D) trial balance JJ“’JJ?}
2. Bank reconciliation is prepared by: - tﬁg‘_ﬁﬁﬁﬂﬁf 2
- (A) bank & (B) accountant »4%¥! (C) Both A& D Ush (D) customer ¥
- 3. Bank statement is prepared by: i.-;_.t*/..‘.:'/):;rﬁu 3
- (A) customer (¥ (B) auditor 3T (C) bank £ (D) BothA&C Ush
, 4. Forabusiness, capital is: _{_,;J_L,q_,,_,{:L 4
(A) expense 7 (B) income (T (C) asset i (D) liability ($/s3
5. Drawings are deducted from: _f‘:_t'lg,_lfgf}fﬁu: 5
(A) inventory <23  (B) capital e e (C) income < (T (D) expense &7
6. Every transaction is first recorded in: _{_3Lgur Z—,;:&ii:;.gc,:;c)ijﬁ 6
(A) Journal  msbiss (B) Ledger Azl (C) Trial balance ui'u“&"J{f) (D) GE.Sf:] book L,J-‘..fu::(
7. Opening stock is written in: . ) _.f_.t‘ﬁglﬁ@/fij;r 7
(A) trading account uf:,lafﬁ;t‘? (B) profit and loss account uﬁ:LA’duﬁ;é’
(C) balance sheet  Jfus s (D) Both A & C Uss
8. Kinds of book keeping errors are: _ -ug(u"IJu;,%“"J.f;{ J 8
(A) four b (B) five é[.. (C) six 2Z£ (D) two 5 _
9. The word "Suspense" means: ) _‘gﬂ_.-i-'-’fb’(u“f)a.wﬁi.tﬁl 9
(A) certainity (&~ (B) uncertainity (= (C) artificial (= (D) insufficient (Kt
10. Recording of business transactions in a systematic way is called: -« t/t/3K 4t/ Ll P B L bl 10
(A) accounting sy (B) posting _ﬁ"f{f (C) journalising &ﬂ,ft}u (D) book keeping &:};bf
11. Accounting is called of business: -pgé:fs’z&;u{fﬁis’l 11
(A) heart s (B) soul L (C) eye #7 (D) tongue/ language /i
12. Accounting principles can be classified in: ..c;_.Cﬁl._a__Lfr‘:w fuﬂﬂﬁﬁ‘ib’l A2
, (A) twokinds  ErUls  (B) threekinds (2¢UiIgt  (C) four kinds UZrLiLb (D) five kinds U LiIGL
13. Expenses paid will decrease to: _Jm/ffhitfawﬁ 13
(A) cash 4 (B) Expenses = bl (C) cashand capital 2L (D) capital sl
14. Day book is also called ; Y -1 A L3 14
(A) Journal .5 {Js (B) Ledger PRy (C) cash book JJ’-’/ (D) pass book JJL
15. King of books of accounts is: _Ic.aL’f-:LKu:fL:r'Ju:"jh’f '.15

(A) profitand loss alc  =W¥uLHE (B) Journal £t (C) trial balance SF0T (D) Ledger =W
16. Credit purchases are recorded in: _;;-_l:'lf._u"@;;,';j,w 16

(A) purchase journal A J747 (B) cash journal s J7i
(C) sales journal  (fAJ7=ss/ (D) purchases return journal 474 7(5%1s

17. Parties in bills of exchange are: | Sl S ke AT
(A) five &L (B) two 1 (©) three oF (D) four b

18. Recording of t'ransactinns in ledger is called: ' _bgfilfaix,ﬁiéq,s@uf:bﬁ‘ .18
(A) journalising £z  (B) posting By (C) book keeping (2s=lf (D) accounting ¥

_19. Compound entry effects at least accounts: _qfafﬁbfu?tpfﬁiﬁjﬁ__.f’} 19
@A) five &L (B) four b () three S (D) two i

-20. A gradual decre'ase in value of a fixed as'setdue to its use is called: _:‘_JMJUUL;{&@JJ%ILJU:J&HJ( .20
(A) dissolution < (B) fluctuation 3l=7.t1 (C) appreciation .4l (D) depreciation Lﬁr}
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Inler - (Part-1) -A-2018

Roll No. to be filled in by the candidate.
. Sessions;2015-2017;2016-2018&2017-2019 1
Principles of Accounting (Essay Type) (el Jth..-fL?df I
Marks: 80 Time: 2:30 Hours & 2:30:=3 807
Section -1 2x10=20 d?l,.:@
2. Write short answers of any five parts from the following. 2x5=10 -L,I/{f“:-ryﬂﬁyéffzfél-::_-é}(cl—(ﬂd}zﬂ} 2
i. What is meant by real account? s /U/;:._,l;fdﬁ i
i. What is meant by contra entry? s /Lf.-_*. H/f i
iii. Define cash book. ,J)’_u/J._fu/ i
iv. What is meant by debit note? el Ve edeed v
v. What is meant by ledger? ?.ILJLfl_{rL:lﬂr(jf v
vi. Define simple entry. ib{fh@j:"(f@i;ﬁln:v vi
vii. What is meant by purchase book? Sestple L 2, Vil
viii. Define narration. | ‘ ISP i
3. Write short answers of any five parts from the following. 2x5=10 /272 L iziEle e utditn .3
i. What is meant by drawer of a bill of exchange? “;:.;ybf.:.;’_/_x/d# i
ii. What is meant by renewal of a bill of exchange? S stple g 58k i
iii. Define final accounts. g S S i
iv. What is meant by bad debts? Sl Spnlss v
v. What is meant by revenue profit? *‘c..,s[,flfc.(‘j L,LJL v
vi. Give four examples of capital expenditures. _JJJVJEJH'WL?I'U’:L/ Vi
vii. What is meant by error of omission? Tl /l/:..(f’ﬁ JJ@‘ Vii
viii. Give four examples of error of commission. -J:u‘J PJBJU!"’l‘diﬁ f/u;;_“‘JJ AL viii
. Section -1I 93 0>
Note: Attempt any three questions from the following. 20x3=60 -qu’fd'...«ﬂlr UC:_ :r:..lﬂJ.:E,;: ...J
4.(A) Record the following transactions of Bilal Traders in the General Journal. HJ)’ t,uut‘_,b J f»{,f: HJJE}JJ‘[:JJAJJJL (AT
(a). Bilal started business with cash Rs.50000/= _"WC;/;L ;b’c_f_:.u[,rﬁﬂtfad.du (a)
(b). Purchased goods for cash Rs.15000/= L IS 5L {b‘i
(c). Sold goods to Niaz for Rs.8000/= at trade discount of 5%. s e b5 e_mr;aé’ L (o)

(d). Sold goods for cash Rs.2000/= u{z—-’v’ﬂrwl}(f—wf25
(e). Received cash from Niaz for goods sold on account. - dﬂsujé__» Lo u:)/_;-);bwiﬁ_.;b

(d)
(e)

(B) Prepare accounting eguation from the following transaction of Igbal Traders. ,u’f buf-LfL.L-?.,:.L,f;uJ S3tnl ik 2J01 (B)

(a). Igbal started business with cash Rs.50,000/= JLLL;JJ;EJ:V/L.—'_M;‘IU:JJ;..:J;/SDél.JW
furniture Rs.10,000/= and stock Rs.5000/= s ikasbe

(a)

(b). Purchased goods for cash Rs.10,000/= at 10% trade discount. u{tiﬂf_xlc.urﬁ"lﬂfb-'f{,r:’._ *,:;;105’ .(b)
(c). Sold goods for cash Rs.10,000/= costing Rs.7500/=. L,J‘J,...-?s/u";ﬂd_w[,d(}f LfIdFs_JL..-i_;; 5;,»-?115" (c)
(d). Purchased goods on account Rs.5000/= -u‘ﬂfmwr&_ AR5 (d)
(e). Paid cash Rs.3000/= for office rent. U S¥ /;.a_mi,rsé’ (©)
5. Prepare a bank reconciliation statement from the following information. c‘f‘:b._ffﬂﬁrf.-;.uhl’ihﬂﬁ 2
i. Balance as per cash book Rs.40000/= -&2/40000/=LEESR |
ii. Insurance Rs.2000/= paid by bank. -mJ!JLJJZDDUf—LLF‘é-J R
jii. Interest Rs.500/= credited by bank. _bfh.e,x.fa..._ﬂs_ 2,500/=23+ i
iv. Unpresented cheques Rs.7000/= LU Hﬁ;é:.i_u?DDDf— iV
V. A cheque for Rs.5000/= was deposited in bank but returned dishonoured. i TRl oz Yl /5JJH: g,.:_ +,5000/= v
vi. Uncredited cheques Rs.8000/= _:_#yuﬁﬁf;g;,i.—_;uaooof— Vi




6. Saeed sold goods to Naveed for Rs. 60000/=on Jan 15t,2[316 and
on the same day Saeed drew a bill on Naveed for the amount.
Naveed accepted the bill and returned to Saeed. On 4" Jan,2016
Saeed discounted the bill with his bank @10%p.a. On the due date
bill was duly met by Naveed.

Required: Give Journal entries in the books of both the parties.

...LS,-/ri:J S x4
U Ul AU U s

;Lr-“.:b’l,ﬁ:'?Ei‘ur%.u.f[,&mj’bég‘;f’f2ﬂ1BLEJ}'?H.'/ .6
SKrd_xs- [’h:%;'lﬁ-'":a;&:}tf AUl bl s}
G 1o ad 2016885243 AL S
S a3 Gosba Pl g e AL 0%

7. Prepare trading and profit & loss account and balance sheet of ;2011 2531 ﬁ;rﬁd‘{b_l&'}’:#nfiﬁfg?lﬂ;}“jbﬂ i
Mr. Saffi and Co for the year ended December 31%,2011. Hqﬁgﬁﬁﬂwibﬂuuﬁé’wiquﬁ'
Debit  wni Amount (b |Credit &4/ Amount ¢
Drawings Fiss 3025 | Sales =33/ 27500
Debtors A2 16500 | Commission 7% 1350
Machinery S 14025 | Capital iy 31187
Building =Lf 17750 | Creditors A 7000
Cash 19 315|Loan J/ 20183
wages - 21 2730
Rent ) 11200
Purchases Sx7 15000
Opening stock  JLskT Sl 6675
Total e 87220 | Total Ul 87220
Adjustments:. | | ke d2d
i. Closing stock Rs.7500/= ii. Un-earned commission Rs.450/= _4:_,;4501=J”-‘:}Jf,ﬁ- i _%:;7SDDI=JB{J5T£JL« |

ji. Outstanding rent Rs.500/= iv. Depreciation 10% on building.

8.

5P 10% gt v

—&3/500/= A/ s tl2ls il
State with reasons whether the following items are capital or revenue.

QWU ALt U Skt 2 8

i. Paid carriage for goods purchased. J_ﬁﬂ,bf;»_ﬁﬂ:alﬁ}lw A
ii. Paid salaries to employees. *Uiﬂjlugffbfﬁjﬂ i
iil. Depreciation on plant and machinery. _&r){;dﬁfﬁsfﬁ&: i
iv. Lega! expenses for registration of land. -:«Lg'jfa;'ﬁ*{d}?ﬂ;uf:} iV
v. Interest on loan borrowed from bank. L AR - AR
vi. Cost of air-condition in the office of General Manager. GBI LS AL A2 i

vii. Replacement of wornout parts of equipment. -@P{L,P_J;-‘Ju:;{__,rﬁ Vi
viii. Amount spent on uniform of the employees. _..';Eglflﬁdmpfu’:m viii
ix. Merchandise purchased for re-sale. _,gﬁquLﬁrf-T"‘( i Ses) ix
X. Repair of motorcar met with an accident. ﬂ@i;;.:x/[! Jfag&&ﬂf X

9. Rectify the following errors.

i. Goods taken away by proprietor for personal use was
debited to charity account Rs.3000/=

ii. Old furniture sold was credited to sales account Rs.1700/=

iii. Cash received from Mr Munir Rs.7192/= has been credited :‘xb&ab«bﬁ;lﬂfiuﬂ/fﬁdﬁ%;ﬁf_ﬁ!_,ﬂ.@l;q:.,bq:-_./;"/‘-’

< :.;:A-"fo(u:f’l‘d STOVIN
'é::.-f/éa.lzf[g_ﬁ_r?le;_jJJﬁuféUbbldFEJLﬂ[,!JK i

*.:‘:.l_;‘f_[:.:/.:.-;:.ju:: e

_“JEJ/JJJ:/Lﬂ:hDrZ.&:}rﬁz.f;gﬂﬁﬁ/,fi)tf{dr'?_.y.r‘n/"/

M

to his account as Rs.7912/= -.—_E__m@__uugr
iv. Debit side of cash book has been over cast Rs.300/= e U S S
v. Payment of repair expenses on furniture was wrongly debited to /_?/::.fk :f:fbr@ﬁaf;uig‘fj’%_wy;\.géf AY
furniture account Rs.1000/= ) oS izld
vi. Interest paid Rs.1200/= was wrongly posted as interest received. -i___:):if;uf:lﬂ(dﬂ:‘_..:ft. th;;?&fbl;ﬂ’;_un;l:g Vi
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Inter - (Part-I)-A-2019

Roll No.

e /':f:.:.r"’.r foprf

Principles of Accounting (objective Type)

Time: 30 Minutes &2430:2%

Marks: 20
L/‘,’UFFL/T{(J__F@% o *MJJfoffﬁgﬁruféfrJDﬂ',C.B,ha@'ﬂ}ﬁkédwﬁéfg{qE’diﬁ&f@fd;;yﬁﬁ;ﬂirrﬁ:g,}

question with Marker or pen ink on the answer sheet provided.

1.1.

2.

10.

11.

12.

13.

14.

15.

16.
17,

18.

19.

20.

(For all sessions) .

Paper Code 6 | 7101

(5% de..:.aL?dr‘l
20: 7

_L{:ﬂ(LLﬁyJuer/:Lfc_ﬁbﬁb'?c:. JisLD L CBrAszEL
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

Accounting is a languae of:
(A) Business (/58  (B) Accountant (5K
Any activity carried out for earning profit is called:
(A) Transaction {;{de (B) Business LK
A brief explanation under each Journal entry is called:
(A) detail J= (B) entry &bl

A business which provides services to customers is called:

(A) services business a6 (L
(C) manufacturing business s/ES/0sl

Assets which provide benefit for more than one accounting

assetls:

(B) fixed S~

period are called
(A) current (/b

Such fixed assets which do not have physical existance are called:

(A) tangible 7 (B) valuable AU
Increase in assets is recorded as:
(A) credit 4/ (B) Debit

F
Lz )

As per traditional classification of accouns, cash account is a:

(A) Realalc 4G  (B) Nominalale sW(b
The process of totalling the ledger balance is called:
(A) casting B¢ (B) posting -y
Through which gross profit or loss is determined?
(A) Trading account .::UJ/JJL;’ ‘
(C) Profit & Loss account ;La(ujLa'ﬁ;Cj}'
Which one of the following is a direct expense?
(A) salary ofF (B) carriage (sl
Revenue earned but not yet received is calied:
(A) advance income Jﬂﬁ"? (B) accrued Jﬁ'l__.-::lg
Purchase Journal is used to record:
(A) Credit purchase 4./l
(C) cash sales w31/
The post-dated cheques are considered as:
(A) cash J (B) inventory a,.:"’i
The contra entry is recorded in cash book on:
(A) debit side 3 Au’
(C) both A&B Ui
The favourable balance of bank statement is called:
(A) credit 2t/ (B) debit s}
The bank reconciliation is a:
(A) Journal Jz (B) Ledger ﬁ
Payment of bill of exchange before due date means:
(A) retiring of bill  (SsEUS ks
(C) cancellation of bill G4
Which one of the following is a revenue receipt?
(A) foan from bank /et
(C) sale of goods &J}&“Lf’:l

An error which cancels the effect of an other error is called:

(©) error of ommission (' S5U# (D) None 2y

(A) ccmpensatingdr:i.fﬁjjl (B) principle deeil

. _:.:_.cjl,j\.ﬁgdfﬁfp By
(C) Business-man (U6 (D) teacher (it
e Qe QoS WPy 2
(D) Liability ~($is.03
e B L LSpS 3
(D) contra entry & lsile?
-?tﬂgg%tfﬁlﬁalﬁfu;@h@ub" 4

(C) Help i«

(C) narration L

(B) trading business Lsk (A5

(D) allthese (UZ
A filie 2ndlofize il 5
Y a0 TR
(C) contigent (D) trading (&
_ AW S e bl T 6
(C) intangible (74 (D) security /i@
_Jﬁ’.}{_blglzrf-,ﬂ:‘:i&lufalgiﬁl i
(D) negative d”
_%:{Kﬁ&wfidﬁkgﬂﬁfud’u;t{ 8
(D) allthese (UL
SIS E SN RA 9
(C) Journalizing S (D) None u:'U:(
S bbb Ly’ 10
(B) Balance sheet AU~
(D) Nominal account =&k
e bhelifibgde Ui its 11
b (D) carriage out L K& zL, 20
qf_(jﬂffﬁg}/;dﬁfu{iggﬁﬁl?&w&&& 12
(C) defferred (15 (D) None 0y
_.1;.{7'?!:.'0@’1 #/i./q;éxﬁjpm{t}u 13
(B) cash purchase 4/ '
(D) creditsale =35l

(C) positive =

(C) Personal alc ;Jo""

(C) rent

e bl RE R 14
(C) Liability (/b3 (D) accounts receivable E_H/J,v-’:’!.,,::u
e bW Tntanlo LY 15
(B) credit side iAect/)
(D) None of these Uff’:_i/f’f(c_-dc,”
_:f_.bﬂfﬂjlﬂﬁxff‘ﬁc@ .16
(D) zero balance u‘l:/*"
e B FE AT
(C) Cashbook L% (D) Statement ety
._r[-_..af/:.:.ﬁ m.%_-:_.f—__'i;;tu/‘i'fd,b: 18
(B) discounting of bill  tis2. (5
(D) None of these u:’ﬁfceﬁcﬂ .
S U UL it 19
(B) investment by owner (/6.4 S0

(D) sale of plant %‘,}Jg,:% | '.
¢ Ol G FHS G2 Ll 20

(C) negative (&
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Inter - (Pari-I) -A-2019

Roll No. (For all sessions)

to be filled in by 1the candidate.

Principles of Accounting (Essay Type)

Time: 2:30 Hours &5 2:30:=%

Section -I 2x10=20
2. Write short answers of any five parts from the following.

i. Define Journal.

ii. Define Narration.

iii. Define Ledger.

iv. Define Trade discount.

v. Define debtor.

vi. Define zero balance.

vii. Define purchase return.
viii. Define real accounts.

3. Write short answers of any five parts from the following.

i. What is meant by inland bill?

ii. Define retiring of a bill.

iii. What is meant by single column cash book?

iv. What is meant by purchase book?

v. Define unpresented cheque.

vi. Define profit and loss account.

vii. What is meant by revenue expenditures.
viii. Define error of commission.
Section -1I

Note: Attempt any three questions from the following.
4. Record the following transaction in general Journal.

(i). Commenced business with cash Rs.50000.
(ii). Purchsed goods from Habib Rs.7000.
(iii). Sold goods for Rs.6000.
(iv). Withdrew cash Rs.2000 for personal use.
(v). Purchased Motor Van Rs.70000.
(vi). Charged depreciation on Motor Van Rs.2000.
(vii). Deposited cash into bank Rs.7000.
(viii). Bought goods by cheqgue Rs.1000.

Marks: 80

2x5=10

2x5=10

20x3=60

(ix). Goods given away as charity Rs.2000.

(x). Goods vaiued Rs.2000 distributed as free samples.
5. From the following particulars of Igbal Traders for the month of
July 2012; Prepare bank reconciliation for the month of July.
i. Balance as per cash book Rs.4239.35.
ii. Cheque issued but not presented for payment Rs.694.10.
iii. Bank service charges amounting to Rs.7.15.
iv. Cheque deposited but not yet credited by bank Rs.1200.
v Amount collected as interest by the bank on Govt securities
not yet entered in cash book Rs.300.
vi. Cheque issued but returned dishonoured Rs.7000.
vii. Insurance premium paid by bank Rs.300.

& ﬁl)d)’}yb’dﬂ l
80:

d.sl,.m
..J,{ff-_«Lff/;«{l_pliiéLL(jfLLﬁJJbﬂ 2
...J/r;..nf/"Lf.f'tJu i
SIS A8CE i
U S LS i

S A
SIS v
_J/J/"EJJ;L'MJ Vi
_J/J/’JL,A!UJFJ Vil

gy i

U e L e Mttt 3

?::_JL/J‘:.LSHLF i

S S E e S i i

St Ve LASEL i
’*‘.;:,__;/Lf;;_,_),,?_;[,_;y v
_J;JfJﬁaMmJ/ v
,L,f/._ﬂﬁJuwu(‘i. i
*‘;:_;[/ch_ublfldUL Vii

NP Al (P8 Sy dl=tF il

(13

-u’f(ﬂ._.-ﬂlf Lﬂ:’.—dfaui' ) 30 Wy
_JIEJJJUCJ.F(J/:)/JJ -J:b;ﬂ 4
Ui s/5000087 )

_J AL 870008 e (i)
sy 0160008 (il
_.;_f:bc‘:rdwudr;;;L;JbL-;zooué" (iv)
ud’dﬁquJ%y?ooooé‘ (V)
—&_2,20005- s pSer st (vi)
) e SBAe 7000E (il
u’:ﬁﬁfhﬁﬁjmvf[ﬂ_ymﬂﬂg‘ (viil)

.,u:fjm,l/s;ﬁf"wJ%uzoﬂoéf (ix)
LA 181200087 (%)

»..-E:’F'J U2 245201 23!1! J.;C/J.!(,{f.k,fdgl' D

_Jﬁbdﬁﬂff
e 42393600 L

—c s S J‘..fd“{fflrd;bgd’ 5Lz L162_1,694. 103‘ i

VKoo 5745570 & i

et e SN2 W G St ¥ 5120087 v
Sauf Jﬁuw,::x o220 Jd_ w3008 v

et L LE
_Ef;’J/}JQU’L,JL?._J:)E’LM?DDD Vi
uq'!;_bL_-JBUDHLJ Vil



e

-y

6. B sold goods to C for Rs.8000/= and draws a bill for three monts. _qu';lg(}&’ﬂg;f;:!u:c:-isffbﬁlnfz_uﬂﬂﬂﬂa‘fdé_d 6

Pass necessary Journal entries in the books of B. il ;Lv..!t;uu.’ius’lf(fd
i. If the bill is retained and met at maturity. -;:_LoL:/JI/uf’..JmI:H L:rlmJL:U’j A
ii. If the bill is discounted for Rs.7600/= from bank. .,:_lpLJr:fg,b’;;;:.JJ.Lu?GUDI—d’Jf Il
iii. If the bill is endorsed to D. bl SFISA i
iv. If the bill is sent to bank for collection. 2 bl 2Lt EJN v
v. What further entries will be passed if the bill is dishonoured? *‘qurJLuL;u/qu:’;_Iw;/Jf
7. From the following trial balance of Ahmed & Co. prepare trading and ..ﬁzfzﬂ‘i?/31;:_.:JJu‘l’Jffé:fMﬁ T
profit and loss alc and balance sheet as on December 31,2017. 43/ DJL)’J' ul._uls’ful-aﬂ:(‘fm
Debit balance * :"d‘-::j Rs. Credit balance J‘*i-"-.‘.:é/ Rs.
Drawing "l 360 | Capital by 54000
Opening Stock  +233LE 26550 | Commission ¢/~ 700
Building e 20000 | Creditors ol# S} 2050
Salaries i 600 [ Sales =3 30690
Debtor S 2780 | Return outward 1 7(5%!s 245
Cashinhand (@ 690 | Bill payable  SAixhUILFE 400
Cash at Bank ("%t 18500
Purchases 4 16750
Discount allowed 3K} 240
Carriage inward L/KZ2_yuil- 150
Insurance P 530
Rent and taxes L))'f.uf...«f- 210
Return inward =31 /(5% 125
Bill Receivable (kG 600
Total e 88085 | Total = 88085
Adjustments:. bzt
i. Closing stock Rs.30600/=. ii. out standing Salaries . Rs.250. L:;25DJIFI:JJ|JI; i JEOSDDI—u,Z.sJLwi N
iii. Depreciation on building at 5% p.a. iv. Prepaid rent Rs.50/= -&-2,50/= ,.Jlfyl:ff’ \Y ,,ULrMSLﬁr}fHJLf ii
8. State with reasons whether the following expenses are capital or revenue. _dLJLLL;’.LSJL/...-bIj’IJ:Z,;.stfubr_.u}is .8
i. Cost of trade mark. _JUJLJLJLBJB' i
ii. Wages paid for construction of a new building. ~—Lﬁ-f1-”t..ff 'cﬁf/"'J S5 i
iii. Payment of annual taxes. L,—-IJIJMU:‘; UL i
iv. Cost of patent rights. NG Pk v
v. Replacement of worn out parts of truck. Al UJ J yJuuf_..ale._Jfr V
vi. Cost of re-decorating a Cinema hall. -JUJ'L}JU ruLuJJLW Vi
vii. Amount spent on uniform of employees. (’JJ;L(G,FJLSMJU’}J} Vil
viii. Attorney fee paid on an income tax appeal. - (f.s u"’f -:.&/J’ Ju .v%ii
ix. Salaries paid to office staff. ﬁﬂ;iwfizﬁlfd 7 ix
X. Legal expenses incurred to obtain bank loan. ; ué_.rlpff-'!;,: ucl;’;ﬂ,,.aj,;,_(: X
9. Rectify the following errors. _L,"/_.»—w"i!kfd' ituss 9
i. Goods sold to Aslam Rs.8000 were debited to his account Rs.800. -lyex JLL—JJ.. Bé’;b bg_,flu"':.ﬂ;f I L-'f -J;;BCJ)‘ A
ii. Sales book was under-casted by Rs.3500. L s L5 ;3&’ =31 et i
ii. Rs.7500 received from Amir was not posted his account. Bl ezl ’ZJI;-TZ 95 33 5.1 ,«-?d’.:, 7l i
iv. Salary paid to Asif Rs.8000 was wrongly debited to his account. _L}/r._.—-:.::berJl.:'_- Jf:l:'/..ﬁ Il v’Lw;Sé’ v
v. Purchased machinery Rs.10000 has been debited to purchases account. iL:/..-w ,H/d;uﬂ:lbﬁid/‘"&_mf;u:é" V
vi. Goods sold to Ahmed Rs.15000 wrongly debited to Usman. _L:/C..w :fu?;ubkuf_ﬂ:;/ﬁ?hwfaﬁmlﬂ56” Vi
vii. Rs.5000 withdrawn by owner for personal use wrongly debited ~ =W¥Ust! LEEL‘;_.I B db‘""'db:’__‘.ﬂl.f_ A58 Vi
to salaries accont. lfm_.w :
viii. Rs.2000 received from Nazia wrongly credited to Shazia. —LJ/-«A/G.—«)L-’&'_-ijf"_-d“""’h"_-,-«.itr__.}.u{f2éﬂ Vi
ix. Wages paid Rs.1000 posted twice in wages account. *L:/’/E,I;,»!HLHJ,lpL, 1‘_(1:1._;]&_:;;%_176" X
x. Furniture sold Rs.4000 recorded as sales. " /-.:E’.x_..:—-v:;’/g_ ;;;45/&";._}:;/) X
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Inter - (Part-1)-A-2022

lRoll No. 4_//;;;7'/1;4,»?4] (For All Sessions) [ PaperCode | 6 | 7 | 0 (1]
Principles of Accounting (Objective Typeu’s*) d/b..‘al/dr‘ I
Marks:20 Time:30 Minutes L300 20:/:2

JZé‘..lré/.“’dlrJl/,‘é(dllru;‘{:/ufoylﬁgﬁ:wé'é_-JD #IC,B,A a&lﬁj/lgLdlrﬁ-ZJ/'QVQIXUJV’C‘FUJaLl!.d:c«mrru’ e
_u::/."c,d-l(J&LLL{&I;W@JU}/’IJ&DMC, B,A

NOTE: Write answers to the questions on objective answer sheet provided. four possible answers A,B,C & D to each question are give. which answer
you consider correct, fill the corresponding circle A,B,C or D given in front of each question with marker or pen ink on the answer sheet provided.

1.1.
V)
2,

)

A)

o

12.

16.

17.

A
18.

(a)
19.

20.

The art of recording business dealings in books of accounts is called. _‘a_b'MJ(L/@AJ-’.}@VI@JUQUJLU{ 1.1
Accounting (2> (B) Recording st (C)  Bookkeeping Usbrl> (D) Costaccounting &L_.«l/dfu
Economic resources owned by a business are called. _u_‘lZ_,ngv(Lu’l‘Q,YZ_M:,;EJJQUKQ/KJ/V;U&V 2
(A)  Assets =l 26 (B) Liabilities «=l2ls (C)  Capital (D) Goodwill 4l

The claim of creditors against business assets is called. ,§_VMJKun:}J}4¢tgﬁvr£/g;/( 3
(A) Capital £l (B) Liability $/3 (©)  Expense 27 (D)  Asset 2

The normal balance of assets account is called. ) ,c‘:_b'nu’%'d/(:uzplgﬁt"l 4
Debit balanceu'q-"_‘,‘d (B) Credit balanccu’%b‘a},/ (C) Positive balance u’J:c) (D) Negative balance u"-'LJ)
The types of Ledger are. —dJru‘Jf" 5
(A) Five é&, (B) Four /(g (©) Two » (D) Three uf

The book keeper’s task is finished after preparation of. -%r@nﬁrKKﬁmeLLﬂg ........ .6
General Journal # s/l (B) Ledger /-/~ (C) Trialbalance w3 (D) Cashbook .fu:{

Purchase Journal is used to record. _g:,t'ndlﬁfli LL/Z-,/J --------- 4;].JU{CJ;/ .

Cash purchases 47208 (B)  Credit purchases 47 Wesl (C)  Creditsales =53/405f (D) Cash payment gﬁblﬁu’
Petty cash is a branch of. _‘Q'Lli(,( ________ J‘f-{(}/ﬂ .8

General Journal l:/'urk

A ®) Lcdgerj-’- (C) Trialbalance it7=¥ (D) Cash bOOku‘(ﬂ/
Cheque book is not issued by the bank for. -L"//uffd/buf_.gzéj,é ....... & 9
(A) Fixed deposit s =407 (B) Current account ek (© ?au\iing asaount o (D) Joint account Pl g
Crossing make the cheque. _‘L.V@M'LL/J|/_¢_G: .10
(A) Favorable Ji )5 (B)  Acceptable J#JG  (C)  Valueable .4Uf5 (D) Safe 74
A person to whom bill is endorsed is called. -;.L"Ll;v(‘é—l_aJydi%/‘f';gﬁ 11
(A) Endorser oi J’h (B) Drawer o s (C)  Endorsee ,_Jlg}b (D) Drawee Joy
Rebate is associated with. S USRS Jw(.w‘.’;.’ A2
(A) Renewal of bill 4;4;(,(6}: (B) Retiring of bill Folef 8t
(C) Honour of bill ﬁl;le,ﬁz (D) Dishonour of bill (F:Ulr/i(fd}k
A bill of exchange is defined under negotiable instruments Act. _lé.(}(od/c’/; L.JJ@!Z;U)JJ(_}'JF.&//TJJJZ 13
(A) 1930 7 r A (B) 1981 $Hr (©) 1881 (FHisoidl D) 1945 oA
One of'the direct expense is. -%b{l e el Alerinl, 14
(A)  Salary S5 (B) Rent ,l/ (C)  Carriage out ,,I/KJ-’)JJL (D) Carriage —in &6l
Prepaid expenses are business. _u_’jLn_:______L,gyK@w]’lp}blﬁ AS
(A)  Expenses =b!7! (B) Revenues Uil (C) Liabilities w=l2ls (D) Assets =l 2t
Accrued revenues are shown in. _uj&[, J/;lb'u: _________ ug,«,fdr‘:’l_’).!: 16
(A) Balance sheet AU (B)  Petty cash book Jj{&z/‘}’s
(C) Tradingaccount =W (L5 (D)  Profit & loss account ;u’uuﬁ,éj
Advertising expense is a. -;_Zyjd/sﬁ 17
Revenue receipt dfﬁ&[_)l. (B) Revenue expense @J.&UL (C) Capital expense &7 sk~ (D) Capital payment ug:l;l&l.)b
Revenue receipts are part of. Y, & (NS uL)r‘:JLJL 18
Balance sheet .‘,?u"]f (B) Income statement ul;/glg!/'m}»!’ (C) Cashbook ..fgff (D) Pass book LU
If a transaction is recorded in the Journal but not posted in the ledger is called. -‘aalkv(;!r;b/)Jﬁﬂnbudﬁ{lﬁ)ud;d‘!ﬁ .19
(A)  Error of principle U}’J‘.J‘_)ﬂl (B) Posting error J’)‘Jﬂg
(C) Compensating error J’Ed/g}l}r (D)  Error of omission J’J‘JJ,?:J;”’
Errors are classified into categories. _g_t‘l?g(..’”;uﬁu;" ________ fu:ﬁ’l‘ 20
(W) Two U (B) Three Us®et (C) Four u;"/ig (D) Five Uf‘yéE
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Roll No. I |

Principles of Accounting
Marks:80 Time:2:30 Hours

Section-I

2. Write short Answers of any five parts from the following:

Inter - (Part-1)-A-2022

(For All Sessions)
(Essay Type##) dj’hfu’d}" f
89:30:5, 80:/?
2x10=20 Jit oo
:w5=10 gy Felz P Loyl atidits 2

i. Differentiate between trading business and service business. _ﬁq&/ u"/LuKdL,éul/l:uKd/.b’ o

ii. Calculate trade discount @ 5% on Rs. 5000.
iii. Explain the term drawings.

iv. Give two examples of Real Account.

pass book.
vi. What is compound entry?

Ry (k*dyﬁ/vc,uvéydéwr ,'étéf” il
_Eeaols S S &b, i
_Q;JQV;:J;J&? v

Give two examples for disagreement between cash book and s - &
¥ . Shween cash boos ™ -u:U::«QZ;::JJﬂP!uL/uL..._{J&_/:’u‘(‘f[ v

%.)l/!fa@l/ﬂ_f/ .vi

vii. CashRs. 500 taken away by the owner for personal use. Write U’/‘-'lJﬂé,l,ﬁé.LJL‘"VIJI;'Z;_:_ILJL%:/}’@&&“ wvii

journal entry.

viii. Describe sales Journal.

3. Write short Answers of any five parts from the following:

Write two differences between trade bill of exchange and
accommodation bill of exchange.

ii. Explain promissory note highlighting the parties in it.

iii. Give two examples of intangible assets.

Ul

~ZEeolos§essf gl i

2x5=10  _zL,Febiz P Lanbladictdits 3
e (e n LG umdy i

il S5 E i Lreolobund s i
e Sebstid F i

iv. Make an entry of allowing depreciation on furniture Rs. 3000 _:a;:b/)d/"lJL@A_._Jul/‘;ufa"dir/'/__/j/' v

v. Define capital expense.

vi. ifan expense is of recurring nature, what it will be called?
vii. What is meant by error of principles?
viii. Define suspense account.

Section-II 20x3=60

Note: Attempt any three questions from the following.

4. Journalize the following transactions.
i. Mr. X started business with cash Rs. 50,000.
ii. Bought furniture for cash Rs. 10,000.
iii. Bought merchandise for cash Rs. 5000.
iv. Bought merchandise on account for Rs.6000.
v. Sold goods for cash Rs. 5000
vi. Sold goods on account Rs. 3000
vii. Paid cash Rs. 3000 to the supplier of merchandise.
viii. Received cash from credit customer Rs. 1500 i

ix. Goods withdraw for personal use Rs. 500.
x. Paid utility bill Rs. 500

_EI e

?wa_ Ve tsbed LA M7 LN i

S e unbdrt i
LEBFEEE S i

r»,.'-'a?
_ufd’umrufc,éfc_u:dszy; s
uﬂau"j]fd)u‘,d);uy 4

-LrC;//Lu(Lu’(/:—t'_uSO OOOCL‘ A

AP /Ke_ulooood“ i

A B ss0008F i

I RICs a_usoood” iV

s B L5000 v

JJ/JJ/AMI;HJA/ISOOOCV i

~Li1e 330008 S K= Lt i
Ll Ui Kz.ruwa_msooé” viii

-uf.,.,;,,m_uurf@g.a:aww.,a ix

-4!)!&;?{/%%—115008“ X

5.  From the following transactions of Mr. Shayan Traders, prepare .:‘;ZL:«‘ el ety JJ S LIS 5

Accounting Equation.
i. Started business with cash Rs. 10000

ii. Bought Motor van for business with cash Rs. 2000
iii. Bought furniture for business by cash Rs. 1000

iv. Bought goods on credit Rs. 5000

v. Paid cash Rs. 100 for carriage on goods purchased.
vi. Sold goods for cash Rs. 4000
vii. Paid shop RentRs. 500

viii. Withdrew cash Rs. 200 for personal use.

-.U/C;/&/Lu{c.d_;u/’/';u)éf Bt
Saieptrd Llke 2l i
_1,37'/‘,:'/";1.119,/({/!/';..{!8? il
-Jﬁf'flﬁl/lw}l'(_;/_u/’/'ﬁa( v
-U/)l,l//fl/lu/,&]d..u)’w{!é/ Y
JJJ/?V‘MJL—)//'/“&A vi
-_L_J/l;l:l/KuK”d_:.u,»’Sd/ vii
B L3l i



From the following particulars of Ali Trader prepare a Bank
Reconciliation statement for 31-12-2020.

Balance as per cash book Rs. 25000.

Cheque deposited but yet not credited by bank Rs. 5000.

iii. Unpresented cheque Rs. 10000.

Bank charges Rs. 2000.

Direct deposited by customer into a bank Rs. 6000.

i. Interest on investment collected by bank Rs. 1500.

On 1" April 2021 Abu Bakar sold goods to Faheem for Rs.
30000 and drew upon him a bill for three months for the amount.
Faheem accepted and returned to Abu Bakar. On 4" April Abu
Bakar endorsed the bill in favour of Atif. On maturity Faheem
honoured his acceptance Pass Journal entries in the books of Abu

Bakar and Faheem.
State with reasons which of the following items are capital or
revenue.

- Wages paid on installing a new machinery.
ii. Wages paid on the purchase of goods.

iii. Preliminary expenscs in the formation of company.

Cost of air conditioning the office.

Cost of redecorating a cinema hall.

i. Painting expenditure of newly constructed building.
ii. Repair and renewals of machinery.

. Wages paid to workers for manufacturing goods.

Purchase of machinery.

Freight paid on purchase of machinery.

LT 262020 331 ok st S b A
Sk

_‘au}&'gi_yul/'ﬂSé(&:WZ:u(ﬂ

W s So 8 S SG pK ss Vriva
-ﬁ.)//l/fuja"_g;u//ﬂ/:;
-u}d’_;//l/';»éfizlgbﬁ

-wén__)i:/(‘j‘ u:uc,:/l/uij,i_.u((%uﬂjﬁéf
-_Lfd/:é...@rf.:é_t/{:_urﬁ df

=31) @ WA 930000/~ L £ 112021} 41 £
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@ oSS e Fad byt S £
JguwJ’zu:JJ(f’m/?yJ_u;/ﬁm/,;ﬁmﬁ
u/

SV Lo St b b Bl L2
Eniduind Lo 8826

Bl Uiz a P S

et e JE G

_JUKLIJﬂJ/flu:;’;
_ol?l]'l/‘:gjjl/fu@ud/dkw
_&lg‘j’Z:L’)/J}/}(&JUBA.;ﬁ;L’}:
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-aZfL,(u;/»/Gfurl;léj.Ldj_b"J;.@f

ARy

_:,I/_J:lfl;l/,_,g/'(,(dj:”’

From the following trail balance prepare trading of profit and u"‘&";,l;bf{uu’ﬁ;(‘j;ul:u/a/_k"gﬂ‘)fl/v’_ibp
loss account and balance sheet. —d_//,'-?»“:ﬁ
Particulars Debit Rs. Credit Rs.

Purchases ,giJU 350,000

Sales returns 95;/.(}"-"1; 2000

Wages uf yl 5000

Discount ezl 1000

Debtors el 350,000

Rent i 60,000

Furniture ) 200,000

Opening stock 5,2 5015 268000

Building e 300,000

Creditors q;u‘f 35000

Purchase return ,g]'(f-‘-h 1000

Sales =3 650,000

Capital A 750,000

Bank loan (f/“(uc 100,000

Total JJ 1536000 | 1536000
Adjustments. _:Af.‘.‘;

(i) Closing stock Rs.90,000

(ii) Prepaid rent Rs. 5000

(iii) Wages outstanding Rs.2000

(iv) Depreciate furniture by 10% per annum.

_z‘?.u/l/';;.}o/f',;dtﬁ! 6)
s ol Eud G
4320008 210 K6 Gid)

2 00w 10%20 £ Fiv)
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